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The following table presents the number of sports shoes produced by seven different companies A-
G (in lakh) along with the percentage (%) of sports shoes rejected and percentage (%) of sports
shoes sold by these companies during the years 2022 and 2023. Based on the data in the table,
answer the questions that follow.

Company-wise details of sports shoes

Year 2022 Year 2023
Company | Number |Rejected| Sold | Number | Rejected | Sold

(n lakh) (%) (%) |(inlakh)| (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 2 76
5 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 31 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330727473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the production of sports shoes by company C from the year 2022 to
2023 ?

(1) 15375 %
(2) 20.625 %
(3) 15625 %
(4) 10.625 %
Options :

1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 5330727474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the percentage rise in the sale of sports shoes by company F from the year 2022 to 2023 ?
(1) 12 %

(2) 25 %

(3) 15 %

(4) 20 %

Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 5330727475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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What is the total number of rejected sports shoes from all the companies together in year 2022 ?
(1) 835000
(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330727476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Total number of sports shoes sold by all companies in year 2023 is approximately % of
the total number of sports shoes produced by all the companies in that year.
(1) 84

(2) 79

(3) 72

4) 75

Options :

1.1

2.2

3.3

4.4

Question Number : S Question Id : 5330727477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Percentage rise in the production of sports shoes from the year 2022 to 2023 is more than 25 % for
exactlly _ companies.

e,
2)
()
4)
Options :
1.1

2.2

3.3

4.4

Ul o= W R

Question Id : 5330727472 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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e arferert # | =1 ufi (A-G) gR1 = 2022 9 99 2023 § Seifed @l & Sl 1 S (A W),
LR W & Sl o1 favra i Safal R o T Ee 3 Sl o 9fae (%) fomn man g1 aifes § uew e
% SR W, AN F WA F I Sl |

e & el R shuAT-are faeror
ay 2022 aef 2023
P FE=T |ardled| Rt | I |ardleal (it

(Fra#A)|[ (%) (%) (=) | (%) (%)
A 25 3 65 33 4 72
B 26 5 88 30 3 76
¢ 32 2 72 37 3 82
D 24 9 76 32 5 87
E 35 4 81 41 5 80
F 18 5 90 24 4 81
G 30 4 83 35 4 78

Sub questions

Question Number : 1 Question Id : 5330727473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FUA C g ad 2022 ¥ 2023 H Ierfed @a % S W ufowd afg fead &2
(1) 15375 %
(2) 20625 %
(3) 15.625 %
(4) 10625 %
Options :
1.1
2.2

3.3
4.4

Question Number : 2 Question Id : 5330727474 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FU F g o9 2022 ¥ 2023 B o9 T WA F 5l § foFer wfove Ifg g ®7?
1 12%

(2 25%

(B) 15 %
(@4) 20 %
Options :
1.1

2.2

3.3
4.4

Question Number : 3 Question Id : 5330727475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 4/128
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ad 2022 # 9t Fufai T T STeeiFa Be F Sal B o e fhal § 72
(1) 835000

(2) 835020
(3) 835040
(4) 835080

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 5330727476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

guft Fufal grn ad 2023 # faskt fFre U B@ F 6 F T g 35 g9 § 9 wufral g senfea

oA F el 1 FHe WS FHI TR % B
(1) 84
2 79
(@) 72
(4) 75
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 5330727477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ad 2022 | 2023 H A F 9di o 3 ¥ g8 ulave gig StF-Si FYfTdi o e 25 % 9
e 2
1 2
(2 3
@) 4
(4) 3
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 533072297
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5330727478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 5/128
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To teach a particular topic a teacher first gives the students to watch the pre-recorded video of the
lecture at home and then engages the students in discussions and pmblem solving achvities in the
class. This is an example of :

(1) Lecture-demonstration
(2) Flipped classroom
(3) Asynchronous learning
(4) Synchronous learning
Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 5330727478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forere wa fafore fawg & oo & fom faenfe=i = samem ged gd # fere fFu o sifed ea | w
o o fore 3 ® 3 3Hek ag e | Feiel au Sue- g iatatdl § Sifod s 1 98 fege
e IR0 & ?

(1) =rEA freeE

(2) el e (fHeTe Fae ®H)

(3) THEHICTE AfRTH

(4) HEFIfCTh e

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330727479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which component of Baddeley’s basic working memory model is involved in the task of Rapid
repetition of the word like “See-Saw” ?
(1) Visuospatial sketchpad

(2) Bounded rationality

(3) Phonological loop

(4) Meta-cognition

Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 5330727479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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-1 (See-Saw) ST Feg T asil § TG o F14 H Sl F SNURYT FEAWF Wi qiee F1 HHE
Hees ofae &7
(1) Tagsidifyae et
(2) YEs Figarea
(3) w@HmF oM
(4) AT (HEEHRTAYA )
Options :
1.1
2.2

3.3
4.4

Question Number : 8 Question Id : 5330727480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher wants his students to watch pre-recorded videos and answer questions embedded in the
videos. Which tool would be most suitable for this purpose ?

(1) Edpuzzle
(2) Evernote

(3) Google Docs
(4) Strawpoll
Options :

1.1

2.2

3.3

4.4

Question Number : 8 Question Id : 5330727480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ue T =medn © T suer faened gd # et foru o difed o1 3@ @i sifedl # wf=fea wei & s <
39 WA % T S ST (26) Halfeen 399 8 ?

(1) TEUSA

2 TR

(3) T ST

(4) I

-

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 5330727481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Match List - I with List - I1.

List - 1 List - 11
(Swayamprabha Channel No.) (Name)
(A) Channel : 04 (I) Kautilya
(B) Channel : 05 (I Vidhik
(C) Channel : 06 (Il) Prabandhan
(D) Channel : 07 (IV) Saaraswat

Choose the correct answer from the options given below :
(1) (A)-(L), (B)-(1I), (C)-(IV), (D)-()

(2 (A)-(IV), (B)-(III), (C)-(II), (D)-(T)

(3)  (A)-(I), (B)-(II), (C)-(IL), (D)-(IV)

4 (A)-(1I), (B)-(IV), (O)-(I), (D)-(1I)

Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 5330727481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hel-1 9 gHi-11 =1 fers wifs
Hel-1 -1
( TETWT B HWEAT) (7))
(A) = : 04 () ifeea
(B) oA : 05 () Tafues
(C) = : 06 (III) TaeA
(D) =7 : 07 (IV) IR

= feu T fomredi H @ W@ I =9 HIfN
(1) (A, (B)1D), (©)-IV), (D)-(I)
(2)  (AIV), (B)~(LIL), (C)-(LD), (D)-(I)
(3)  (AD, (B)-1D), (C)-(Im), (D)-(IV)
(@) (A1, B)-1V), (O)-1), (D))
Options :
1.1
2.2

3.3
4.4

Question Number : 10 Question Id : 5330727482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 8/128
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An instructor uses portfolio assessments in an art class. What key components should be included
in the students’ portfolios ?

(A) Collection of completed art works

(B) Reflective essays on their creative process
(C) Standardized test scores

(D) Peer feedback and critiques

Choose the correct answer from the options given below :
(I) (B) and (C) Only

(2) (A), (B) and (D) Only

(3) (A)and (C) Only

(4) (C) and (D) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 10 Question Id : 5330727482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T ST el &1 oherl H dSwiferd geais 1 wga o &1 faenfef & aieferi # fr ger gew
1 wfewfera fan ST Ay 2

(A) YUl FHeTRiaAl 1 GUE

(B) SeR! HorTcHe Wiehdl W fHamefial faiy
(C) WA qL401 ek

(D) TEReft ot gfagfie sit Enme=Ad

= feu o faspedi § 9 WaE W F =TI FIAC
(1) o (B) 3T (C)

(2) % (A), (B) #R (D)

(3) I (A) ¥R (O)

(4) A4 (C) ¥ (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 5330727483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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According to UGC Regulations 2018 on Plagiarism, which of the following percentages of similarity
in a research article would result in debarring a university teacher from supervising a PhD. Student
for a period of two years ?

1 27%
(2) 38 %
() 44 %
(4) 65 %
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 5330727483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wifeferss = o o) #9579, faf=ae 2018 o @R fofdl oy g § gamd & fora wfasrd o o
< 99 =i @ty o forg f.w= S, foeneft & vdasmo & favafasmera & fes =i Sfaa fear smam ?

(1) 27 gfqerd
(2) 38 wfqerd
(3) 44 gfaer
(4) 65 gfaemE

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 5330727484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following methods of graphical representation of data would be useful in showing
association between two variables ?
(1) Ogive

(2) Pie charts

(3) Histogram

(4) Scatter plots

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 5330727484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 10/128



8/30/24, 11:23 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

frfafaa & & et fafy g % crafate fEgw & foau @ =@ % 9= g6y g9 % fau sagef e ?
(1) =rafeervl (&irsiea)

(2) €A

(3) e fae (fewnm)

(4) TomRvl UM (The wied)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330727485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the threats to internal validity.

(A) Selection threat

(B) Maturation threat

(C) Attrition threat

(D) Testing threat

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (O) and (D) Only

(3) (A), (©) and (D) Only

) (A), (B), (© and (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 5330727485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

siidfees e 3 wf @l i gEaE Fh
(A) =99 Hadfi TR (FaaE 92)

(B) UftvgE et Tl (FegieH 92)

(C) Heu Fae T (Tfeed 9°)

(D) Tfteor Heidlt way (=T 92)

= feu o fased § 9 W& W FH =TI FIGC
(1) =€ (A), (B) 3R ()

(2) = (B), (C) =R (D)

(3) = (A), (C) ¥R (D)

4)  (A), (B), (O) 3R (D)

Options :

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 11/128
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1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 5330727486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the datasets with the following means (% ) and standard deviations(o) in decreasing
order of their coefficients of variation.

(A) o0=43, X =138

(B) o0=38, x =127

(C) o=57 x =149

(D) o=4.7, x =14.1

Choose the correct answer from the options given below :
(1) (A). B), (C), (D)

(2)  (B), (O), (D), (A)

(@) (©), (D), (A) (B)

(4) (D), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 5330727486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<q TRl &I frefafea meEt () S wFE famer (o) % @ 31E fo=wor qoiE % Hed wW § Fatted
Fifer
(A) o=43, ¥ =13.8
(B) ¢=3.8, x =12.7
(C) ¢=57 X
(D) o=4.7, X =14.1
A= fou o fased § 9 W& W FH T FIGC
(1) (A) (B), (O, (D)
2 @), (O, (D) (A)
(@) (©, (D), (A) (B)
@) (D) (A) (B), ©
Options :
1.1
2.2

3.3
4.4

=14.9

Question Number : 15 Question Id : 5330727487 Question Type : MCQ Option Shuffling : No

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 12/128
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Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - II
(Scale of Measurement) (Example of Variable)
(A) Nominal (I)  Height of students
(B) Ordinal () Time of Day
(C) Interval (II) Caste
(D) Ratio (IV) Rank of Army personnel

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©O)-(1V), (D)-1)

(3)  (A)-(L), (B)-(1V), (C)-(1L), (D)-()

4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 5330727487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 GE-11 =1 THe i

i1 -1

(\Ta T Y ) (= T QT )
(A) e (FAfETe) () feenfeE it oo
(B) HAgTE (HAMET) () fea =1 w7
(C) 3T (1) =ifa
(D) &I (IV) H=rHl =i I

A=t feu T foepedi H 9§ W& I =4 HIW
(1) (A1), (B}-(IT), (CO)~(II), (D)-(IV)
(2) (AL, (B)-(1D), (C)-1V), (D))
(3)  (A)-(I), (B)-(IV), (O)(ID), (D)-(I)
(4) (A1), (B)-(D), (C)-(I), (D)-(I1)
Options :
1.1
2.2

3.3
4.4

Question Number : 16 Question Id : 5330727488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 13/128
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The major difference between Television and Cinema is :
(I) Eye movement

(2) Sound reverberation

(3) Bandwidth

(4) Liveness differential

Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 5330727488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FeAtfarer ofr o § g s = 2
(1) 9 g=e

(2 =M SFIE

(3) e ek (s fagy)

(4) Sidaa fadew

Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 5330727489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to David Holmes, the textual or behavioural qualities of communication are determined
by the architecture of the particular -
(1) Medium

(2) Message

(3) Noise

(4) Ideology

Options :

1.1

2.2

3.3
4.4

Question Number : 17 Question Id : 5330727489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sfoe &9 o SER, TR ge-fauge a1 SHaer e quermed # fafe 1 Gl
(enfeheaaR) § ffor o s €1
(1) Heam

(2) W

(3) W

(4) fEa=mEm

Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 5330727490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The medium of Internet is described as :
(A) Restricted possibility

(B) Unimpressive theology

(C) Universalist

(D) Redemptive

(E) Electronic assembly

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(@ (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (B), (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 5330727490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 15/128
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222 °F WY o fRg w9 ° 9viF forar s © 2
(A) wfasfea Fyrera

(B) STHWTERE YHfag™
(C) wrEYdmarT

(D) far=®

(B) seraRiieh WS

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) = (A), (B), (C)
(2) = (B), (O), (D)
(3) %= (C), (D), (E)
(4) A (A), (B), (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 19 Question Id : 5330727491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the following modes of communication :
(A) Written

(B) Face-to-face

(C) Print

(D) Broadcasting

(E) Datacasting

Choose the correct answer from the options given below :
1) (A), (©), B), (), D)

(2 (B),(A) ©), D) (B)

(3)  (©). (D), (E), (A), (B)

4) (D), (B), (A), (B), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 19 Question Id : 5330727491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action
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g o frfatad Ml & HE T HE Sl Ted FHife ;
(A) fafaa

(B) SHA-HIHA
(C) H="
(D) WERO
(E) SerehIfa

= feu o faeedi § 9 WE I 1 T4 FIfSU
(1) (A) (Q), (B), (E). (D)
(2) (B (A) (C) (D), (E)
3 ©, (E), (A), (B)
4) O (E) (A), (B), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 20 Question Id : 5330727492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Concept) (Description)
(A) Closed text (I)  Verbal expressions
(B) Principle of safety (II) Basic rhetorical structure
(C) Orality (ITI) A text to elicit a single response
(D) Cluster (IV) Avoidance of risk

Choose the correct answer from the options given below :
(1) (A)-D), (B, (O)I), (D)-(IV)

(2 (A1, (B)-(ID, (©)-(1V), (D)-1)

(3)  (A)-(LD), (B)-(IV), (C)-(L), (D)-(II)

4)  (A)-(IV), (B)-(I), (C)-(IL), (D)-(III)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 5330727492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Teit-1 9 -1 =1 fies i
Teil-1 Tt-11
( ST ) (Fuia)
(A) TgH TS (1) g sfveafaaal
(B) Htem waHt fagia (I) T STEHRIE G
(C) HifiEswa (III) Teel =1feRaT 9Te A o foa ore
(D) HE (FF=) (IV) SifEd | ==

= feu T fomredl H ¥ W@ I A =9 FIW
(1) (AND, (B-(I), (O, (D)-(IV)
(@ (A)-W, B-, ©-1V), D)
(3) (A1), BHIV), (O-D, 1)
(4)  (A)IV), (B)-(1), (C)-(IL), (D)~(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 21 Question Id : 5330727493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the value of the expression :

(0.12x 0.12x0.12)+(0.012x0.012x0.012)
(0.48x0.48x0.48)+(0.048x0.048x0.048)

: 1
M 15
1
@ 3
(3) 4
1
@ =
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 5330727493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(0.12 % 0.12 x 0.12) + (0.012 x 0.012 X 0.012)
(048 0,48 0.48) + (0.048 X 0,048 x 0,048) 1 17 31 PITSIC

T
T
& <
@) 4
T

Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330727494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Consider the series given below. Find the number which can be inserted at the place of question

mark (7).
5, 14, 39, 88, 209, 7, 667
(1) 378
(2) 297
(3) 299
(4) 375
Options :

1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 5330727494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= & T 9ol W fo=Er Fifew | w9 fag % e W e wenfg sk S Srel 9E J19 S
5, 14, 39, 88, 209, ?, 667

(1) 378
(2) 297
(3) 299
(4) 375
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 5330727495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following is/are true ?
(A) If the selling price (SP) of an article is ¥ 40 and the gain is 15 %, the cost price (CP) of the
article is ¥ 32

(B) A man bought a toy for ¥ 150 and sold it at a profit of § %. He sold the toy for ¥ 162

(C) A man buys a cycle for ¥ 500, but due to some problem, he sells it for ¥ 400. He thus incurs
a loss of 22 %

(D) Cost price of an article, if its SP is ¥ 210 and the loss is 30 %, is ¥ 300.
Choose the correct answer from the options given below :

(1) (A) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (B) and (C) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 23 Question Id : 5330727495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefarfaa # & #m ar/8 g g/E?

(A) Afg forHT =reg o1 fasha qed T 40 § ALY 15 % &, 1 o5 o1 @R Jed T 32§

(B) U&=l A T 150 1 Uk FEgeiia1 Eliel 3K 39 8 % HAF W o= | 394 faein #1 T 162 # o=

(C) T =Afa T500 H Uk Wrefohel Weal €, W el 0w & FR0 9% 39 T 400 H 9=l €, 3H YER
W 22 % B A €

(D) afe fordt areg =1 forrg Heg T 210 TR =1 30 % & o 39 =% o1 @Fd 464 T 300 &

v feu o faredi § 9 WE I 1 =TI FIfSU

(1) e (A)

(2) FEA (A) 3R (D)
(3) ae (B) 3N (D)
(4) = (B) 3 (O)
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330727496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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In a certain code language :

“Bitter patience sweet fruit” is coded as : “Bo Po So To”

“Art is sweet happiness” is coded as : “Ao Io So Ho”
“Hoping is concealing bitter” is coded as : “Hp lo Co Bo”
“Patience is art of hoping” is coded as : “Po lo Ao Fo Hp”
How “Patience is happiness” will be coded in this language ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo
Options :

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 5330727496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Eaeil HE HHT -

“Bitter patience sweet fruit” %! “Bo Po So To” % ®4 H Feds foran 2
“Art is sweet happiness” %! “Ao lo So Ho” & €9 H Feag e S ¥
“Hoping is concealing bitter” =l “Hp Io Co Bo” eI ETCEACRIRSIG] g
“Patience is art of hoping” %l “Po Io Ao Fo Hp” % ®9 ¥ Fedsg foham S ©
9 991 § “Patience is happiness” I fod YR Feag fhan smam ?

(1) HoloPo
(2) Hp AoPo
(3) Po Ao Hp
(4) PoloHo

Options :

1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 5330727497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A man invests ¥ 1550 in two parts, one part at the rate of 8 % interest and another part at the rate
of 6%. If the total interest earned in one year is ¥ 106, find the amount invested at each rate of
interest, respectively.

(1) % 650 and T 900
(2) % 700 and ¥ 850
(3) % 750 and T 800
(4) % 800 and T 750
Options :

1.1

2.2

3.3
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4.4

Question Number : 25 Question Id : 5330727497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T A T 1550 1 1 T H 791 SR €, Ul ST 8 % 1 S R AR g 9T H 6% H W W AfS
ue T H erfsta foram T e = T 106 ® O WS o W FA9: e 5 g afer 3 Fwifew

(1) % 650 3 T 900

(2) T 700 3T 850

(3) ¥ 750 3R T 800

(4) T 800 3R T 750
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 5330727498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“If one eats mushrooms after a long gap of time, one falls ill. I have been having some digestive
issues since morning today, therefore there must have been mushroom in that mixed vegetable
soup we had last night” which fallacy, if any, committed in the above argument ?

(1) Itisa valid argument

(2) Affirming the consequent

(3) Hasty Generalization

(4) Begging the question

Options :

1.1

2.2

3.3

4.4

Question Number : 26 Question Id : 5330727498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ofe 1 =afaq OH9 & UF o a0 F 91E HIET F1 Y9 Fal § 9§69 9 ¢ HiE F oA
Tt B e Heiel T o g 9 @ T, safau s ufs # faw e ffya afsei % gu i e @
BT | 39 g H, Afg 1S o, foRan T <9 i € 7

(1) TETH Y g ©

(2) Fd 9 fauE

(3)  fa=nia |mr=ieR

(4) ST 9

Options :
1.1
2.2
3.3
4.4
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Question Number : 27 Question Id : 5330727499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are squares” is given as true then which of the following statements
can be inferred to be false.

(A) All rectangles are squares

(B) Some rectangles are not squares

(C) Some squares are not rectangles

(D) No rectangles are squares

Choose the correct answer from the options given below :
(I) (B), (C) and (D) Only

(2) (D) Only

(3) (B) and (C) Only

) (A), (B), (©) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 27 Question Id : 5330727499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

af FYF-'Fo o9 a9 €, # I & ' ° foan w0 € @ frefafea § 9 59 s o ome F e A
ST feran S Sehan 8 2

(A) W|eft st o €

(B) F® oHd = Tl €

(C) F = 31a T &

(D) oI Sft Ta o 7 §

99 fou o fosredi O 9 W& I F F5H AU
(1) = (B), (C) ¥t (D)

(2) =4 (D)

(3) I (B) 3R (O)

4)  (A), (B), (C) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 5330727500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Which of the following propositions are contradictory ?
(A) All squares are rectangles

(B) No squares are rectangles

(C) Some squares are rectangles

(D) Some squares are not rectangles

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (B) and (D) Only

(4) (A) and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 28 Question Id : 5330727500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefas & | S afasfear s €2
(A) | o 37 €

(B) HIE off I Iyad AL ¥ |

(C) FS o aaa g |

(D) FS I A Tal & |
= fou e fasredi © 9 WE I H 95 FIfAT
(1) e (C) &R (D)
(2) O (A) (D)
(3) eI (B) 3R (D)
(4) FE (A) 3R (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 5330727501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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From the following identify the propositions that are logically equivalent .
(A) Some books are novels

(B) Some books are not non-novels

(C) Some novels are not non-books

(D) Some novels are books

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A) and (D) Only

(3) (A)and (C) Only

(4) (A), (B), (C) and (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 29 Question Id : 5330727501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea # 9 =7 wfasfad # Te=am Ffee s afds T 9 goaed € 2
(A) FS T STIH T

(B) F® Y& -39 TEl € |

(C) F9 3T=E - T2l |

(D) FS 3TH THF & |

= feu o faeredi § | W& T T2 FHET

(1) == (O) R (D)

(2) A (A) (D)

(3) A (A) 3R (C)

(4)  (A), (B), (O) ¥R (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330727502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Somdutta who is never seen eating during the day time is constantly gaining weight. Therefore,
she must be eating during the night time”. As per classical Indian philosophy which instrument of
knowledge is used in the above statement ?

(1) Perception

(2) Analogy

(3)  Verbal authority

(4) Postulation

Options :
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1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 5330727502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o1 o Tug A el off WrE T e S T S o YR A W w1 | 39, 58 U 3 9ee
WA 3 T8l 2R 1" I RS 99 % ST99R SWiE &y § 39 F fg anm o uge e e g ?

(1) oy diy
(2) 39
(3) 9IeE 9HIO
(4) 9
Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 5330727503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a software that displays unwanted or sometimes irritating pop-up
advertisements which can appear on your computer or mobile phone ?

(1) Spyware

(2) Adware

(3) Worm

(4) Trojan Horse
Options :

1.1

2.2

3.3

4.4

Question Number : 31 Question Id : 5330727503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

01 H | 3 98 Gidgl © S Sfdifed stger w1 w4 a1l 99— o gefia s & S
TR gt e Hemse B T Yehe 8 HeRd © 7

(1) T
(2 TEEAW
@) 9

(4) ZreEEd
Options :

1.1

2.2

3.3

4.4
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Question Number : 32 Question Id : 5330727504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microsoft Access is an example of a(n)
(1) Operational resource toolkit system
(2) ERP system

(3) Database management system

(4) Knowledge management system

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 5330727504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HreshETRe vy e 8 § foRae seem 27
(1) JETeHeE HHHA Zeiche Wl

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 5330727505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

On the basis of the coverage area, identify the correct ascending order of the following four types
of computer networks A-D :

(A) WAN
(B) LAN
(C) MAN
(D) PAN

Choose the correct answer from the options given below :
(1) (D), (B), (C), (A)

(2) (B), (O, (A) (D)

(3) D) (©), (B), (A)

4) (A) (B), (D), ©

Options :

1.1

2.2

3.3
4.4
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Question Number : 33 Question Id : 5330727505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS & & YR W FH 42Tk o 14 T- THRI A-D F el TRE! W S Gedr Hired ;
(A) TG T (WAN)
(B) TAT T (LAN)
(C) THTTI (MAN)
(D) W TUA (PAN)
= fou o faded § F W& W FH =TI FIGC
(1) (D) (B), (O, (A)
2 (B), (©), (A), (D)
@) D) (©), (B), (A)
(4) (A), (B), (D), (O
Options :
1.1
2.2

3.3
4.4

Question Number : 34 Question Id : 5330727506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following devices are computer output devices only ?
(A) Scanner

(B) Plotter

(C) Light pen

(D) Projector

(E) Speaker

Choose the correct answer from the options given below :
(1) (A), (B), (D) and (E) Only

(2) (D) and (E) Only

(3)  (A), (B) and (C) Only

(4) (B), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 5330727506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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et o & i gfoaat Faa FeEr R (sm=eyR) i €2

(A) ®FH
(B) X
(C) w2 99
(D) WSt
E) wHrR

9 fou o fashedi H | W& I FH FFH FIfAC
(1) =€ (A), (B), (D) 3R (E)
(2) = (D) SR (E)
(3) = (A), (B) R (O)
(4) = (B), (D) 3R (E)
Options :
1.1
2.2

3.3
4.4

Question Number : 35 Question Id : 5330727507 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(ICT Term) (Definition)
(A) VolP (I) A tool for real-time communication between two or more

people sending text messages to their devices

(B) Instant Messaging (IM) (I) A system of interlinked hypertext documents accessed via
the Internet

(C) VPN (IIf) A technology that allows you to talk with other people
using the internet

(D) WWW (IV) A network that protects data by encrypting network traffic

Choose the correct answer from the options given below :
(1) (A)-(1D, (B)-(I), (O)(1V), (D)-(III)

(2)  (A)-(IV), (B)-(1D), (C)-(1LL), (D)-(I)

(3) (A=), (B)-(I), (O-(I), (D)-(IV)

(4) (A)-(), (B)-(T), (O-(IV), (D)-(I)

Options :

1.1

2.2

3.3
4.4

Question Number : 35 Question Id : 5330727507 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 29/128



8/30/24, 11:23 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Teit-1 9 -1 =1 fies i
Teil-1 Tet-11
(g i 2 ") (‘wfwraT )
(A) ot &0 e @ (VoIP) () 1ot il o are Haw 991 T < 71 Aferek safedi
=T arcaifires T9IR 7 ST
(B) Ok W YU (&ME wH) (IM) (1) FeE % wregw § st wrem Hhifed eemea gore
JoTTE!
(C) ot dt T (VPN) (Il) =& G S TI9eR 32012 o Wam § 319 w9
e A 1 AT Sl §
(D) &g =g g5g (WWW) (IV) € "o Sl eeeh A1 o hISIhv gHI <12l |
E2GI

= feu U forredi H @ W& 3T A = FHIWY
(1) (A)-1D, (B)-(0), (O-1V), (D)-(I1)
(2)  (A)AIV), (B)-(1I), (C)-(ILD), (D)-(T)
(3)  (A)-(), (B)-(D), (O)-(IL), (D)-(1V)
(4)  (A)-(), (B)-(D), (O-(IV), (D)-(IT)
Options :
1.1
2.2

3.3
4.4

Question Number : 36 Question Id : 5330727508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the fDllDwi_ng are routes for exposure to pullutants m humans ?

(A) Inhalation

(B) Consumption

(C) Ingestion

(D) Dermal

(E) Digestion

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (A), (©) and (D) Only
(3) (B (D) and (E) Only
(4) (A), (O) and (E) Only
Options :

1.1

2.2

3.3
4.4

Question Number : 36 Question Id : 5330727508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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THE B U F SUTEA F 0 fefafaa § g wm E 2

(A) S TIEA
(B) 39
(C) iaem
(D) wE
(E) Hr=d

9 fou o fashedi H | W& I FH FFH FIfAC
(1) %9 (A), (B) 3R (C)
(2) FEE (A), (C) 3R (D)
(3) #Ed (B), (D) iR (E)
(4) FFA (A), (C) ¥R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 5330727509 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered as a prominent indoor air pollutant ?
(1) Mercury

(2) Radon

(3) Helium

(4) Argon

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 5330727509 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafes § | 58 ©F TE o1iafe 99 YU+ & a1 9% WHE1 ST € 2
() 9

2 A

(3) Efeam
(4) mH

Options :
1.1
2.2
3.3
4.4
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Question Number : 38 Question Id : 5330727510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Leachate is a :

(1) Green house gas

(2)  Air pollutant

(3) Liquid extract from landfill site
(4) Ozone depleting substance

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 5330727510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frenfea uemel (efee) 2w .
(1) 7 zRy

(2) @ 9gHh

(3)  yfFsEor =i § i a3
(4) SIS aor geref
Options :

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 5330727511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about tropospheric or ground level ozone ?
(A) It is called as good ozone

(B) Itis formed due to downward transfer of ozone from ozone layer
(C) Itis formed due to the action of sunlight on oxides of nitrogen
(D) Itisa green house gas

(E) Itis a key component of photochemical smog

Choose the correct answer from the options given below :

(1) (B), (©), (D) and (E) Only

(2) (A), (B) and (C) Only

(3) (©), (D) and (E) Only

(4) (A), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 39 Question Id : 5330727511 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

1 5 9 [ afvHeeg Sge YT S % G99 | Hel ¢ 7

(A) Y TH 3= S Fal Al @

(B) e el Wa B 3 1 A= ot IR sfaftg @ & wwor fafda S ®
(C) & E2roM & Sise T gEReET #1 fofan & R fAfifa &t &
(D) IE TF WA 258 7§

(E) I% YohTO-THTATTF (RRIhiHeFel) el o THE Ho2F ©

= fau o fawmedi #§ 9 W& I 999 FHifAC

(1) = (B), (C), (D) 3 (E)

(2) EE (A), (B) #R (C)

(3) %= (O), (D) ¥R (E)

(4) e (A), (D) 3T (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 5330727512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about International Solar Alliance (ISA) ?
(A) There are over 100 member countries in this alliance

(B) Its head quarter is in Geneva, Switzerland

(C) Most of its member countries lie between equator and tropic of cancer
(D) Primary objective of alliance is to efficiently use solar energy

(E) It is a collaborative initiative of India and France

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2)  (A), (D) and (E) Only

(3) (B), (O) and (E) Only

4) (C©), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 40 Question Id : 5330727512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SRR 6 Teas (96 w9 T) & an § 74 § § 1 99 22
(A) =@ ER H 100 ¥ s g Tw it €

(B) U gEATE e, fafeseiz # &

(C) 3HF ATCRRIY Wew e T 37 ek v & 0o feom €1
(D) 39 TEEYA 1 WTHF 3599 G 3N =1 &1 ST FE1 B
(E) % 9RA 31N W% =i TF Gearl Jed 2|

= fou o fasedi §f 9 W& I 1 T HITAC

(1) e (A), (B) 3T (D)

(2) % (A), (D) ¥R (E)

(3) 9 (B), (C) IR (E)

(4) = (C), (D) 3R (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 5330727513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Kothari Commission (1963-64) suggested spending of national income on education.
(1) 3 percent
(2) 6 percent
(3) 7 percent
(4) 9 percent
Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 5330727513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IS AN (1963-64) A e W U9 &4 & T & =49 1 Gara o o
(1) 3 gfaem

(2) 6 gfayd

(3) 7 ufayd

(4) 9 gfaem

Options :

1.1

2.2

3.3

4.4
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Question Number : 42 Question Id : 5330727514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The University Education Commission (1948-49) suggested a bachelor degree of :
(1) Fiveyears
(2) Four years
(3) Three years
(4) Two years
Options :
1.1
2.2

3.3
4.4

Question Number : 42 Question Id : 5330727514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fovafaemera f1am s (1948-49) 9 fohe aui @ & ©aw fei % fou ggma fean on?
(1) =

(2) =Ry

(3) < o

(4) Qo

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 5330727515 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following were measures initiated by Lord Auckland ?
(A) Guaranteed the maintenance of oriental colleges

(B) Publication of useful works for instruction in oriental languages
(C) Selection of certain places for establishing central colleges for highest instruction
(D) Closure of college libraries

(E) Abolition of student scholarships

Choose the correct answer from the options given below :

(1) (A), (B), (O) Only

(2 (B), (O (D) Only

(3) (©), (D), (E) Only

(4)  (A), (D), (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 43 Question Id : 5330727515 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

e Alkeis 7 FafafEs § FHE 3u" gy fFu 972

(A) wr=g welfaarerdl (STftdeel FHIers) o STEeror i el YSH i
(B) WA wrisd H SHe % ford SwEnh FHiadl @1 g H

(C) =IaH 3T & foq Fwsig werferererdl i L= ¥ Hiqud T &1 999
(D) WeIfeRIea % YEashlcrdl ol g el

(E) foenfel =t wmafai =1 waifa

= feu mu fawredi § 9 WE I F T2 FfSU

(1) e (A), (B), (C)

(2) e (B), (C), (D)

(3) e (C), (D), (E)

(4) &= (A), (D), (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 5330727516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dent'Lfy the correct chronological order of the establishment of the following colleges :
(A) Fort William College, Calcutta

(B) Sanskrit College, Poona

(C) Central Hindu College, Benares

(D)  Anglo-Vedic College, Lahore

(E) Sanskrit College, Benares

Choose the correct answer from the options given below :
1) (A), (B), ©, E), D)

@ (), (D) (B), (B), (A)

@) (D), (B) (A), (B) (©)
(4) (B, (A), ), @), ©
Options :

1.1

2.2

3.3
4.4

Question Number : 44 Question Id : 5330727516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frefafaa Terfaeredl 1 T o el FHIcTshiHe HH i Tgar il ;
(A) e fafezm e, o
(B) H&Rd Helfa=eT, I
Q) w2 foxg weifamned, F Iy
(D) Ure-afes Fiers, TeR
(E) HERd HelfE=eE, sRE
99 fou Tu fasredi H 9 W& 39 FFH FIfAC
(1) (A), (B), (O, (B). (D)
(2)  (©. (D), (B), (E), (A)
(3) (D), (E), (A), (B), (O)
4) (E) (A) (B), (D), (O)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330727517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I
(Commission) (Recommendation)
(A) Hunter Commission ()  University technological departments providing for
research and teaching
(B) Sadler Commission (I)  Withdrawal of government support to collegiate education
(C) Hartog Committee (IT) Development of mofussil colleges into future university
cenlres
(D) Sargent plan (IV) Enrichment of college libraries and concentration on

Honours courses in select centres
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(ID), (C)(I), (D)-(IV)
(2)  (A)-(ID, (B)-(ID), (O)-(V), (D)-(0)
(3)  (A)-(LID), (B)-(IV), (C)-(L), (D)-(II)
(4)  (A)-(IV), (B)-(I), (C)-(II), (D)-(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 45 Question Id : 5330727517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 37/128



8/30/24, 11:23 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Teit-1 9 -1 =1 fies i
Teli-1 TElt-11
( 2rErT ) (3TeTET)
(A) B AT () 9y i forem yere =2 & gey ¥ favafaares & drifmsm fagm
(B) USSR &@EM () Welfaamed fen 9 Sl §Hefd g2
(C) =R gfufg (IIl) HFeqe Helfaared & dwel foavafaeme™ =i ¥ fawfaa e
(D) W= GreT (IV) werfaene™ & qEakmedl & Hadq 3R gfer #=i § 176 T2mra
et
= feu o fosredi | W@ I FH =T HIGC
(1) (AHD), (By-(II), (O)-(II), (D)-(IV)
(2) (A1, (B)-(ILD), (C)-(V), (D)-(I)
(3)  (A)-(Im), (B)-(IV), (O)-(D), (D)-(I)
(4)  (AHLV), (B)(D), (C)-(IN), (D)~(IM)
Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072298
Question Shuffling Allowed : No

Question Id : 5330727518 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer the questions that follow :

Holidays are often a time of culinary indulgence even for people who are usually careful about
diets for the rest of the year.

But there is more to holiday eating than avoiding excess calories. What we eat affects the health of
the entire body, including the immune system. Since the most of the body’s immune system is concentrated
in the gut and the trillions of healthy bacteria living there called the microbiome - what we eat has a
direct impact on how the immune system functions. “A lot of people don’t think about the effects of
what they eat on immunity. But the science says it's crucial”, says Heather Moday, MD, Founder of the
Mnday Centre for Functional and Intergralive Medicine in Norfolk, Virginja, and Phjladelphia. And it's
especially important at this time of year, Since the winter holidays occur around the time when illnesses
like colds, flu and other respiratory illnesses peak.

While an occasional indulgence probably won't cause lasting damage, throwing caution to the
wind till New year’s Day is certainly unhealthy and might make you more susceptible to getting sick.
“Even just a month of really just blowing it and not caring about nutrition can impact the microbiome”.
says Kristin Kirkpatrick, a registered dietitian at Cleveland Clinic’s department of wellness and preventive
medicine.

Sub questions

Question Number : 46 Question Id : 5330727519 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 38/128



8/30/24, 11:23 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

Important key message the above text conveys about holiday eating can be stated as follows :
(1) Itis important to completely avoid indulgence

(2) Occasional indulgence is unlikely to cause lasting damage

(3) Diet has no significant impact on the immune system

(4) Holidays are an ideal time to experiment with extreme diets

Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 5330727520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct statement that describes the primary focus of Heather Moday’s statement in
the text :

(1) The benefits of a balanced diet

(2) The relationship between diet and immune system
(3) The importance of regular exercise

(4) The effects of meditation on health

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 5330727521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are effects of diet on the body’s immune system as discussed in the text ?
(1) Increased cholesterol levels

(2) Direct impact on immune system functions

(3) Improved skin health

(4) Loss of appetite

Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 5330727522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Microbiomes are important as :

(1) They create lots of sugar in the body

(2) They are healthy bacteria living in the body

(3) They may raise blood pressure and heart disease risk

(4) They increase the tendency for processed food

Options :

1.1

2.2
3.3
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4.4

Question Number : 50 Question Id : 5330727523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is incorrect in the context of the given text ?

(1) There is a lot less harm done if four days out of the week you are eating pretty well

(2) To keep the immunity strong, one does not have to stop celebrating but needs to celebrate a
little smarter

(3) What we eat has a direct impact on the immune system

(4)  Occasional food indulgence will cause lasting damage

Options :
1.1
2.2
3.3
4.4

Question Id : 5330727518 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

ferw U TEITYT St UgeRT WYl o ST EITa

gfgat yra: 37 mt % fow off @ # dferad &1 w2 €, S e ad § o7 SeR % 9 H |
T W 2 |

cifer, stfafter Fer & 9o ¥ 5= % 999 Pl & fo Trae & 9§ o) of 91 €1 89 S @ w5
¥ Iue gfeierss yomell afed Gl IR % Tared W uYE Tedl €1 iifE I F sifernie ufeterr yomedt ot
T Hopf=d € 3R e foremm owal & T o AiEshiaram e T SEiean (SiE]) -gn 4 W ¥, SHH Toda
T9TE Teal & foF wicremss gonell Y #1d Fdt ¢ | aga-a @R 3 W 9 ioiE 1 g2 9l 99 o 9
T & Hrd € afe fagm Fea ® T 72 veoqul €1 9% WdwE, gt R frersfern § de 8= wR
hRM g Farifeq Afefam % yay fewe vd Srays T HIE F FeN €| SR g ad & 39 g9g ¥ faum 'y
H Heayu € FifE 9l #1 wfcal oy 36 99 2l €, 59 W, W &R YagT SR 9H W e € |

iR AT-hal WA | Sfera 31 Syad: T afa 98 geanem, dfwd Ta-a4 % G 7 gy 1@
e T € srarers € S SR S § Ufa R T €1 Feligeie gl & 9oy ue frafea
Hfefad fewdiez ¥ ysiigra smer fasvs foreia fardhfes o1 Fem & ' arce | W U W | aT9Eme e siit
o 2 R H e T 39 I WEREEN R 99E U gk g1

Sub questions

Question Number : 46 Question Id : 5330727519 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IUF 9IS 5N BEl & e &% @AY H Hieraar % 9] H Siaely T Heequl 1 G Fi frefaiead % '
¥ srfiyeram foran < Te €

(1) @AY o e | qoia: a9 Hewgd

2)  FE-hel WA H Sfereal gr et aifa sEafe 2

(3) TER 1 YIOET JOIEl T 1S Hield GUE el g 2 |

(4) fedi & feT sfa—am e & 9 99 37 % Th 59 909 © |

Options :

—
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1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 5330727520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG TE FHYF 1 T Fo0, IS H BT 1S F FYA W NAfTF B9 G oH Figa =4 F 9N H T F=a

(1) Hafera er & o

(2) SR AR W& Yomed o e Gay
(3) frafma =mam = 9

(4) =M % @ |/ Y9E

Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 5330727521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafaa § § wOr & gfoweon yomelt | 21 & fohg gura =i == #T T § 2
(1) 3 gY FleRIe &R

) wfaeeror guret < el W geds a9

(3) T F WA H guUR

) @ A T

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 5330727522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) 3 R ¥ sreaferr 960 30 F4d B

(2) IR H oA @ s (Siem) €

(3) A FaEm iR 7 e I &% sifew #§ gfg g ¥
(4) 3 TEERT @ UeHel % Hed o1 99t 9gid & |

Options :
1.1
2.2
3.3
4.4

Question Number : S0 Question Id : 5330727523 Question Type : MCQ Option Shuffling : No
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frfefaa & & F Fue 3uge ue & Hef § ol A T 7

(1) Afg a9 e % =R 7 gaia "eH s € 9 98 &0 afa ad €

(2) wfaer s Ty 990 WA F fon Sfaa 9 Sceayds aiF | =eTE A€ e =fen, afes g
At Yerafeerd aF 8§ SeHaqul WATH A =1fey |

(3) B9 S WHUE FA €, SHET HRE YOI T oI U TS ©

(4) TSI WA H G T sifa ggam

Options :
1.1
2.2
3.3
4.4

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Gujarati

533072101
2

Online
Mandatory
92

92

200

0

1
533072299
Yes

Question Number : 51 Question Id : 5330727524 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

‘[Blopan glus wolt’'- Hwed 510 54 © )

(1) %51 -l
(2) QLGS CRIAIHER
(3) ot 55121
(4)  ¢Racaoy oyl

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 5330727524 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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‘Bt glus ueierd duig 5160 534 9
(1) %5l sl

(2)  AIHEE GRIAIHER

(3)  sdd sisR1

(4)  ¢Racaor oyl

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 5330727525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al uYHAR 940/ Gl ssaeiy s10L Bea s34l 9 )

(1)  eudel
(2) [EreEm
(3) R
(4)  UHeis
Options :

1.1

2.2

3.3

4.4

Question Number : 52 Question Id : 5330727525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al UHHAR 4dRL/ GlUudldal ssaeid S18L [HEa s34l 9 7

(1)  oudel
(2) [EreEm
(3) AR
(4) s
Options :

1.1

2.2

3.3

4.4

Question Number : 53 Question Id : 5330727526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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el 2slemtl 58 gl -2l 7
(1) diud 25 v

(2) B

(3) Wi U

(4) il

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 5330727526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el 24816l 59 gl -2l 7
(1) i 25 ui

(2) S

(3) L s

(4)  dleril

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 5330727527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

58 uzdl eyl 4l 7

(1) ‘Rlaeidl slaer’ oo usizid
(2)  deaaliEsueidl 2l

(3)  HERIsY A 54 -l 3L

(4) ‘slelardusen
Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 5330727527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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58 el AHEyI-l 2l 7
(1) ‘Rzl slagr’ oo usizid
(2)  dedaliasueidl 2l
(3) MRS diMeAd 5 Al 2l
(4) ‘slolardusmn

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 5330727528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sl s 2aedloust 2 [BoneulEdn Aqaiom 24es 310 210Ul 8 7
(1) s

2)  lGsepa

(3) dicae

(4) ®& M5

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 5330727528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sl S leus 244 [AoualEAn Hdiod 2403 319 21euel © )
(1) 2iss

(2)  2UlGAepa

(3) dieaz

(4)  ©Z ks

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 5330727529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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eet[AReaiaul 58 R sleEuIR szl Ul 9 7
(1) 2l el

(2)  slesegl 2t

(3)  seael 2loem

(4)  ouasl Sz

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 5330727529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

tei[AReaidui 59 Rl sleulamz szuml 24l © )
(1) el efe

(2)  slaegl 280

(3)  seael 2lopm

(4)  ouasl e[Sz

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 5330727530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

wifee 2l [Fmounl 2 usiedl wusadidl 2ria sl 42l 9
(1) el

(2)  #ilasl

(3) gl

(4) Al

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 5330727530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2i(axe il [Eumendl s us Al weusadl 2eue sl 201 7
(1) el

(2) el

(3) gl

(4) ddl-l

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 5330727531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2085l 2 dgel -l 7
(1) uuzil R

2)  uliadl 2lsk

(3)  iloienleadl qae de
(4) el mulsrs Ausicl

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 5330727531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U4l 2 @giel -2l )
(1) uduael [GRie

(2)  ulial llgld

(3)  iltieufeardl qa- die

(4) el wlsrs sl
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 5330727532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“sieql At GuRic 2o Auneiladl dlell 2uamas ©° - 2 [Geud S8l 5 © 7
(1) [Ereepaie Bl

(2) urigdlsr YA

(3)  AdEIM

(4) Rl

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 5330727532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“siel At Guzic e Aueiladl dlell 2usras 9 - 24 [Geud sl 5 9 9
(1) [Erepias Beel

(2) u-Eisr YA

(3) AdduA

(4) rRea gl

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 5330727533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Alzs s[ectiAL bl syl © 7
(1) g

(2)  AUERIM

(3) ol sISIR

(4) Wl wss

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 5330727533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AlzgA sl 2ot 518 344l © 9
(1) g

(2) AUEH

(3) oL, I5i

(4) 2wl wss

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 5330727534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

urslar (YR etdll) Yrasul s sladl sleaudl e A2l 7
(1) 38

(2)  “lgdz

(3)  WRerels

4) s

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 5330727534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Yrslar (el eddll) yrasul s sladl slEaudl 2iqae 42 7
(1) 38l

(2) CllEER

(3)  WRcz-ls

(4) s

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 5330727535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4 [Ban2iy Guizist salldl -2l 7
(1)  sEalEds
(2)  sterallan
(3)  sledl 2A wlken
(4)  uosdl ulsa

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 5330727535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AL [AduAa Gaigisy sdzlldl ¢l 7
(1) sldulEss

(2)  slediallan

(3)  sledl A dileen

(4)  uosdl ulsa

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 5330727536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U TezAL IS QL S D T
(1)  =u-Gy

(2)  yp-uil

(3) uw-G2

(4)  R-HE

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 5330727536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U1 wezeAl AlAds AL S D
(1)  =-Gy
(2)  yp-uil
(3) yw-Gy
(4) -

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 5330727537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

58 oLl SRl lX 2l 2l 7
(1) wlerydl

2) [rerl

(3) 2l

(4) @dal

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 5330727537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

58 oLl SRl lX g0l 3l
(1) eyl

(2) [erl

(3) 2l

(4) adel

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 5330727538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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sl e 981 [Got(sal 2l 7
(1) -l
(2) -l
3) 4
(4) -l

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 5330727538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

41w 931 [Aeilsadi 42l 7
(1) -l
(2 -l
3) -
(4) -

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 5330727539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

¢larl cldl 58 dsrzidl wiels ldl-l Yeisie & 7
(1) =kl

(2) vl

(3)  uiadl

(4)  yadl

Options :

1.1

2.2

3.3
4.4

Question Number : 66 Question Id : 5330727539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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¢lail olidl 58 veridl uiEls olidll Yzisie © 7
(1) =Rkl
@ uzel
(3)  H=iadl
(4)  Hadl
Options :
1.1
2.2

3.3
4.4

Question Number : 67 Question Id : 5330727540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“ileles daillaqdl veald yads 4 dusd © )
(1) =y

(2)  ¢Racas oppell

(3) st $ls121

(4) e we

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 5330727540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“ifelcis Haliandl weald Yads g4l dusd © )
(1) =y e

(2)  elracast ol

(3)  srddsisiRl

(4) e we

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 5330727541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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waliei [l uzigall £i6L seell sadt 9
(1) wstieeul
(2) welsls
(3) w4 sl
(4)  [yafAssliq

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 5330727541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

alie [l vzigell siol swell sdg2i 7
(1) welia-el

(2) wpelsls

(3)  wd 5Bl

(4)  Brafseia

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 5330727542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Gl Al vaiusel wes sl 46l )
(1) ulseusl

(2)  suins(cud

(3) yedawrew

(4) Goseusl

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 5330727542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘il Al vl wes il
(1) ulseusl

(2)  sunslcud

(3) yelawrew

(4) Geseusl

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 5330727543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AL AY sy Hed URHRAL A2l 7
(1)  §élexul dig

(2) 2 velE dlus

(3) iRl gel

(4) o dl will elins disy

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 5330727543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sl A sy e UL A2l 7
(1) gél ex¥l 98

(2) 2 uziEw Adlus

(3) iRl gel

(4)  ouo] di il elvst disy

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 5330727544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘Ul ol wlal 3 77 glad wulded razu 29 )

(1)  2UcHsul

@) s

(3)  Aadsul

(4) [Feiy

Options :

1.1

2.2

3.3
4.4

Question Number : 71 Question Id : 5330727544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WAL L AL 3 7 slAd Hl@ed v 2 O 7
(1)  cusuL

(2) s

(3) AudsuUl

(4) [Reiy

Options :

1.1

2.2

3.3
4.4

Question Number : 72 Question Id : 5330727545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al 2ildu 2z 4L AR 2 © 7

(1] Hel
(2) [zl
(3) B2
(4) Ml
Options :
1.1

2.2

3.3

4.4

Question Number : 72 Question Id : 5330727545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Azpetrl Al L S A v © 7
(1)  edl

(2) [

(3) 32

1) wsell

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 5330727546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

8 dBLeL vissloud Al
(1)  HUHAL

(2)  goear(ea Gus
(3)  ylar duedl

(4)  dzaufia

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 5330727546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4 dBeL wssiond, el )
(1) MUHLGLAL
(2)  gaealdd Guis
(3) ylar wueql
(4) @zl

Options :

1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 5330727547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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] 1015 Alzs st Yzl <l 7
(1) 2tastsd 240l
(2)  MYRE WRUsvd
(3)  IM HIEMR
(4) el

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 5330727547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g WR1G1s 1zs st yeeild 4l 7
(1) 2taetsd 240l

(2)  RER MRIvU

(3) U HIEMR

(4)  waedl

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 5330727548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ctedle s B 2y 2l ¢dl 7

(1) uda
(2) U0
(3) e
(4) gal

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 5330727548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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aledled st B2 2y 2l ¢dl 7
(1) udal

(2) M6l

(3) 21U

(4) gal

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 5330727549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

59 gld v Al [Geulsva © 7
(1) dxu

(2) A ¢Hud

(3) g selad

(4)  [sveallm

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 5330727549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

58 gl v’ Al [Qoulsya © 7
(1) da

(2) A e¢d

(3) g sl

(4)  [svealliml

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 5330727550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘G AR’ AL s 25l Fngois sda Hodl 2 7
(1) ol

(2) MR

(3) Al

(4) <l

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 5330727550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Gz AHARAT AL 4L 250 [EAr$0s sdal Hadl Al 7
(1) ollet

(2) MR

(3) st

(4) <l

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 5330727551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Yary slesy i s WAt (A3 A2l 7

(1) s
2) &S
@) F
4) Hal
Options :
1.1

2.2

3.3

4.4

Question Number : 78 Question Id : 5330727551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘Yo sz ui g wa (A3 -l 7

(1) s
(2) 5
(3) g
(4) a4
Options :
1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 5330727552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“edl Hirde Al Rl sal
iz [Usid Bl sa’ - 20 dlsail 24
sl il aaml 210l 9 7

(1) Seldd
(2) w2y
(3) “llérgd gl
(4) el
Options :

1.1

2.2

3.3

4.4

Question Number : 79 Question Id : 5330727552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘sl ire 2l Rl sve

21z [t Bl svetl” - 200 dlsail s
sleqHAeHIAL sl 20l © 7

(1) ey

2) ey

(3)  eldgd gl

(4) cald

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 5330727553 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

“eie’ 1 s UL RS (A3l © 7

(1)  Gala
(2) gwal
(3) Ml
(4) ols
Options :

1.1

2.2

3.3

4.4

Question Number : 80 Question Id : 5330727553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“AetAe | S oUHAL HRHRE (A3l © 7
(1) Galza

(2) gual

(3) el

(4) olis

Options :

1.1

2.2

3.3
4.4

Question Number : 81 Question Id : 5330727554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Bl 2L Y Al Wi Hisy” [Aoiaml s11L usdslL Geaw A2l 7
(1)  Asafiaz

(2) adxad

(3)  oinls 2l

(4) =ilQue

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 5330727554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘Bl 2L Y Al Wi Hisy” [HoAaul $41L usdsL Geaw A2l 7
(1)  Asafiaz

(2) aéxzud

(3)  oinls 2l

(4) ilaue

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 5330727555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“wzaadl g Ui g ARL WA R3] Al ?
(1) Wyl

2 el

(3)  wleueysdl

4) soasas

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 5330727555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“wzaadl 2ig i g ARl W A3 Al 7
(1) %yl da

(2) el

(3)  dieueyzdl

(4) gpaslast

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 5330727556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“S3Rcle [@eRur Her Bieg HUY Al Yrds Siq 8 7

(1) lide 2iileds
(2) .l 53
(3) IAdds
(4) . U9
Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 5330727556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"SRl Q23R Her Bies WYL AR YRS Sl D 7

(1)  2didin 2dilegsr
(2) .2 554
(3) <Adds
(4) R A9
Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 5330727557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i dals [alécd Wi s 21egl Guaiol s3ell-l Mot cusd 4L ¢dl )
(1) Hellctet Hifdedt

(2) Brruel e

(3) s Al

(4) s e

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 5330727557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i dad Frauilcd e a1 aeedl Guaiel s3etinl dd cusd 54l el ?
(1) Hellctet Hildext

(2) Brrued auléc

(3) sl Alded

(4) s Al

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 5330727558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

58 rlzagld A6l 7

(1) dlium 3su

(2)  uSAlHIA

(3) Lol 2l HldiHA
(4) “xs
Options :

1.1

2.2

3.3
4.4

Question Number : 85 Question Id : 5330727558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

58 rAlzagld 2l 7

(1) SRux s

(2)  uUSAlMRIH

(3) Lol 2l HUldiHA
(4) s

Options :

1.1

2.2

3.3
4.4

Question Number : 86 Question Id : 5330727559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘g A’ Ml e [Ague A8l 7

(1) (G
(2) [Edn
(3) dl
(4) sl
Options :
1.1

2.2

3.3

4.4

Question Number : 86 Question Id : 5330727559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

EEACCRCTESRTEREEU D (W

(1) [Gs
(2) [Aax
(3) @l
(4) iz
Options :
1.1

2.2

3.3

4.4

Question Number : 87 Question Id : 5330727560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4 qeRs “cReved oif)’ i 3uidRd 2y ¢d 7
(1)  Aamad

(2) RIeA

(3)  Glidueud

(4) doslza

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 5330727560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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&4 qls “¢Rovet oy i 3uialRa w3y ¢ 7
(1) 44
(2) R
(3)  Glidueud
(4) Ha 8=zl

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 5330727561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5101 dlsBrdidl Guiusia ozl eididl gl did szl 7
(1) =R glelea
(2)  “nddziM slsiz
(3)  wveed dlass
(4)  u-iglsr YA
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 5330727561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5191 dlsBidctidl Guisid ere] edidl gadl aua s2dl 7
(1) =R gldla
(2)  “OddIM SL51R
(3)  weteud Alass
(4) urisrisr A
Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 5330727562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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-

Alldcd 2518, [Eedll yrasirl 2=lsiz si6l s4l 6l 7
(1) ¥2aL =il

(2) el s

(3)  sdd sisR1

(4) sl HisS

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 5330727562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

& 25183, [Bedll yaesiz-l welsiz 16l sdl A9l 7
(1) y2aL el

(2) el s

(3) ot 55121

(4) SR HISS

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 5330727563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

#ezs HelellRl 2429 Rieve 208k 59 dial avl <4l ?
(1) iz Hde

(2) elau

(3)  wH&uil

(4)  AcLAL 2YR

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 5330727563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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#ezeg HeLlellRl 2429 Risue 20l 59 dial gl 2 ?
(1) iz Hdet

(2) el

(3) &Ml

(4) UL 2R

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 5330727564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

51sHHL 215l -

(A)  Sleest Uoi™

(B) wdslBm

(C) Al agsulEst

(D) yeellrigula

(E) Fsacant

A2 2l [Esednill diml seiet wus s3l.
(1) (A) (B), (O), (D), (E)
(2) (E) (D), (Q), (B), (A)
3 (©). (B) (D), (A), (E)
(4) (B), (C), (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 5330727564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S1sHAL L5 -
(A)  5leesE o™
(B) sz
(C) Al agsulEst
(D) yeellriguRat
(E) Fsacast
A2 2l [Eseuniiall wiel sraier YAE 53
(1) (A) (B), ©), (D), (E)
(2 (E) (D), (Q), (B), (A)
@) (©), (B), (D) (A), (E)
(4) (B) (C) (A), (D), (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 5330727565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S1sHHL 2lisl :
(A) ogoig
B) dlgsl axdl
(C) [Bonugy

(D) tioiftaid

(E) =uuel 4lls 2o

AAl2 240Ul Bisednisll Jl srdied wus s3l.
(1 (A) (©), (B), {E)f (D

(2 (A) (B), (Q),
(3) (B), (D), (A),
(4) (E), (D), (Q), (B) (A

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 5330727565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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slsHHL 2llsHl :
(A) ogeig

(B) dlgsl axdl
(C) [Eeuugy

(D) tioaid

(B) =uuel 4lls «o

Al 2l [Esedmisl 2l svaier WaiEg $30.
(1) (A) (O, (B) {E), (D

2 (A) ®B),(C

(3) (B) (D),
4) (E), (D)
Options :

1.1

2.2

3.3

4.4

)
(A),
(©), (B) (A

Question Number : 93 Question Id : 5330727566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SlsHAL 26l :

(A)  RIAIRAACLE

(B) ElEllE

(C)  ulizdius

(D) wiERidIAE

(E) euaslmsdieus

Al 2L Fseuniiall diel seeiet YME sal.
(1 (©) (B), (D) (E), (A)

(2 (A) (B), (O, (D), (E)
(@) (B) (C) (A), (E), (D)
(4) (©), (D), (B), (A), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 5330727566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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slsHUL 2sel :

(A)  RIARAAAIE

(B) EIEIE

(C) uRiRalsug

(D)  PERIALE

()  ouaslAvsdials

Al 2L [Asednisl sl sralel YiE 3.
(1) (©) (B), (D) (E), (A)
(2 (A) (B), (©), (D), (B)
() (), (C) (A), (E), (D)
4) (C), (D), (B), (A), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330727567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SLsHAL 26l :

(A)  #gsid zivlaial

(B) MMlssHR ued

(C)  Guiaist =2l

(D) [EArepae Beael

(E) 2L «ddl

AAl2 2L Fsedniiall diml seeiet YME s3l.
(1) (D), (E), (A), (B), ()
(2) (D) (Q),(E), (B), (A)
(@) (A) (B), (©), (D), ()
) (©) (A), (D), (E), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 5330727567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SINEHHL 2llsel :

(A)  dgsid zidlaiol

(B) MMlsgHRved

(C)  GHiisw saail

(D) [EAeepaie Beel

(E) 321 «ddll

Al 2L [Asednisl sl sralel YiE Sl
(1) (D) (B),(A), (B), (©)

(2 (D) (O),(E), (B), (A)

(3) (A) (B), ©), (D), ()

) (©) (A, (D), (B), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5330727568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHNEHHL 2Lsdl :
(A) [Fireiio
(B) sl

(C)  wiwsidl dun

(D) SleMul et 36

(E) se-ldiy

Al 2L Fseuniiall diel seeiet YME sal.
(1) (B), (C), (A), (D), (E)

(2 (A) (B), (O, (D), (E)

(@) (E), (D), (Q), (B), (A)

(4) (D), (Q) (B), (A), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 5330727568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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slsHUL llsel :

(A) [xaie

(B)  syxail

(C)  Hasidl dun

(D) SLeHML D9 263,

() Hedldid

Al 2l [Eseqmisl 2l svdier WiEg s30.
(1) (B) (©), (A), (D), (E)
(2) (A) (B), (©), (D), (E)
(3) (E), (D), (©), (B), (A)
4) (D), (O, (B), (A), (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 96 Question Id : 5330727569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SlsHAL 26l :

(A)  Bis Al

(B) asraldl susaldaz

(C)  2lsratctetl UL : UAHLL 2ird 2402413
(D) urulsvs erulEisuq

(E)  OLML BEHMA YURL

Al 2L Fseuniiall diel seeiet YME sal.
(1 (©) (E), (D) (B), (A)
(2) (D) (Q),(A), (B), (B)
(@) (A), (D), (B), (O), ()
4 (A (B), (©), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 5330727569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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slsHUL 2sel :

(A) B Rl

(B)  svatdl cusalGz

(C)  2lsrctetl GUML : UAHOL 2t 240241Y
(D) s eruldisuq

(E)  OLML 2844 Y3Y3L

Al 2L [Asednisl sl sralel YiE 3.
(1) (©) (E), (D) (B), (A)

(2) (D), (Q),(A), (B), (B)

(3) (A), (D), (B), (O), (E)

“4) (A) (B), (O, (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5330727570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SlsHAL 26l :

(A)  HellasnAL Wil

(B)  SMEL: Bis By
(C)  ®UBL: 245 35 USIR
(D) olH 24 S21481

(E)  13dc M1l

Al 2L Fseuniiall diel seeiet YME sal.
() (E), (D), (Q), (B), (A)
(2 (A) (B), (O, (D), (E)
() (), (C) (D) (A), (E)
) (©) (A)(E), (B), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 5330727570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SINEHHL 2llsel :

(A)  walisenL Hol

(B)  GUMEL: 25 Bt
(C)  ®ULEL: 2is 3u5 USIR
(D) olH 24 S21481

()  Izzdd Uil

Al 2L [Asednisl sl sralel YiE 3.
(1) (E), (D), (Q), (B), (A)
(2) (A) (B), (), (D), (E)
(3) (B), (C) (D) (A), (E)
4 (©) (A (E), (B), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330727571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SLsHAL 26l :
(A) el g
(B)  svetllts

(C)  §eell 3L Y3
(D) [l

(E) ™M

Al 240Ul Bsednisll Hl srcied wus s3l.
(1) (A) (O, (D), (E), (B)
(2) (A) (D), (E) (B), (©)
(3) (E), (A), (B), (O), (D)
4) (A) (B), (O), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 5330727571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SINEHHL 2llsel :
(A) el 2lirig
(B) seeil<iy

(C) garll M 43
(D) [E2u

(B) ol

A2 2l [Esedniiall wiel seeer wAis 53
M @A) (O, (D), (B, (B
@ (@A) (D) (E) B) (C
3 (E), (A), B), ©), (D
4) (A) (B), (O, (D), (E

Options :
1.1
2.2
3.3
4.4

g28.digialm.com/CAE/viewHtmIPDFAction.action

Question Number : 99 Question Id : 5330727572 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0

SLsHAL 26l :
(A)  MisyAiAlL 9y
(B)  oliatgl uxal
(C) 3L ol §ovleil
(D) ollvud yey
(E) «agrel

AAl2 240Ul Bisednisll Jl srdied wus s3l.
(1 (A) (©), (D), (E), (B
(2) (©) (A), (B), (D), (E
(3) (E), (B), (O (A), (D
4 (O, (E),(A), ©), (B

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 5330727572 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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slsHHL 2llsHl :

(A)  WiseyAl-l a4

(B)  olizugwl uxl

(C) AL el §evRlel

(D) ellsugycy

(E) <RA8L

A2 2al sednill wel seeer wHE s3l.
(1) (A) (©), (D), (E), (B)
2 (©). (A) (B), (D), (E)
(3) (E) (B) (C) (A), (D)
(4) D), (E), (A), ©), (B)

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 5330727573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5105+ 2Lisel :
(A) cldsis
(B) [BlEusis
(C)  2Reu5l8
(D)  Hgsls

(E) yeasis

Al 20Ul Fsednisll Hil srdied wus s3l.
(1) (A) (©), (B), (D), (E)
(2) (A) (D), (B), (Q), (E)
(3) (A) (B), (O), (D), (E)
4) (A) (O, (B), (E), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 5330727573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SINEHHL 2llsel :
(A)  cuasis
(B) BhRs-usis
(C)  2Re451s
(D) HErsis

(B) ¥eusis

A2 20l [Eseuniell wiel sreer wis 53
(1 @A) (O, (B), (D), (E)

@ (A) (D), (B) (©), (E)
@) (A) (B), (), (D), (E)
4 (A (O, (B), (E), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 5330727574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S1sHUL LsAl :

(A) a3l 2z

(B) =l 24 Mileud

(C)  [Held 3 vlazim

(D) [tk svdl

(E) Wil 5154l

Al 2a [Esedmidl 2l seaier g 3.
(1) (B) (A), (©), (D), (E)

(2) (A) (B), (D), (E), (©
(3) (©). (D), (E), (A), (B)
4) (D), (O), (A), (B), (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 101 Question Id : 5330727574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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slsHUL llsel :

(A) ezl 2

(B) il 2 uealeua

(C) [Feld 3 vdzm

(D) [Bleikal sydl

(E)  sl0il 5156l

Al 2l [Esedmisl 2l svaier WaiEg $30.
(1) (B) (A), (©), (D), (E)

(2 (A) (B), (D), (), (©
) (©), (D), (E), (A), (B)
4) (D), (O). (A), (B), (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 5330727575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

51 HHL 2lisdl :
(A) HEsR™L
(B) Mz
(C)  DuzB MZ
(D) 2lieR

(E) [Aoweisz
AAl2 240Ul Bisednisll Jl srdied wus s3l.
(1) (A) (B), (O), (D), (E)
(2) (E) (D), (Q), (B), (A)
(3) (D), (E), (A), (B), (O)
4) (©) (B), (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 5330727575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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S1$HHL 2Lisel :

(A)  HesRe

(B) MR

(C) DM 2

(D) 2lieR

(B) [Howeisz

A5 240 [Eseunisll Al seciet wis s3l.
(1 (@A) (B), (Q), (D), (E)
(2 (E) (D), (Q), (B), (A)
3 D) (E), (A), (B), (O
4 (©). (B). (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5330727576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

51005 HHL 2Ll :
(A)  svOEd
(B) ibeeii
(C) uals/sl 3 5¢4 7

(D) Udzsy«l 2ud

(E) Weisiv el

AAl= 240Ul Fsednisll Jl srdied wus s3l.
(1) (E), (D), (O), (B), (A)
(2) () (A), (B), (D), (E)
(3) (A) (B), (O), (D), (E)
4) (B) (A), (O, (E), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 5330727576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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slsHUL llsel :

(A)  sYOEld

(B) il-etE

(C) Neols/iat 2 563 7

(D) syl 2ud

(E) sl &2l

Al 2l [Esedmisl Al svaier WuEg s30.
(1) (E) (D), (©), (B) (A)

(2 (©) (A), (B), (D), (E)

(3) (A) (B), (©), (D), (E)
@) (B) (A), ©), (E), (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 104 Question Id : 5330727577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

5105+ 2Lisel :

(A)  dlaus

B) 4R

(C) R

(D) glecll3iizl

(E)  $143 2l 84 G294
AAl2 240Ul Bisednisll Jl srdied wus s3l.
(1) (A) (B), (D), ©), (E)
(2) (A) (D), (©), (B), (E)
(3) (A) (©), (B), (D), (E)
@ (A (B), ©), (B), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 5330727577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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slsHHL 2llsHl :

(A)  dlaxs

(B) @R

(C) war

(D) sleel3izl

(E)  siuz i 84 WIG294
A2 2l [Eseuniiell wel seeer wis 53
(1) (@A) (B), (D), ©), (E)
@ (@A) (D) (©), (B), (E)
@) (A) (O, (B), (D), (E)
4) (A (BE), (©, (B), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5330727578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SlsHAL 26l :

(A)  §UR YoLlRigs Al MEH

(B) Mg yueligs Al MEN

(C)  2svri Hild e 25184 Ailecuollze yrsiadl wiin
(D) e 25154, Bedl wRAFisAL wiioy
(E) el disuildod sieldl wEs

Al 2L Fseuniiall diel seeiet YME sal.
(1) (B) (A), (D), (Q), (E)

(2 (A) (D), (B) (Q), (E)

@) (©), (A), (E), (B), (D)

4 (E) (A) (B), (D), ©

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 5330727578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SINEHHL 2llsel :

(A)  §HR YALRigs Al MEH

(B) ri¥E Yaelugs Al RN

(C)  Asruct #ulEex 2518l 2uleoliza yrasiadl wdey
(D) Hiléed 2154, Bedl wRdifisAl uiey
) el disulécd vidiél wEs

Al 2L [Asednisl sl sralel YiE 3.
(1) (B) (A), (D), Q) (E)

(2) (A) (D), (B), (Q), (E)

@) (©), (A), (E), (B), (D)

@ (E) (A) B), (D), ©
Options :

1.1

2.2

3.3
4.4

Question Number : 106 Question Id : 5330727579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ARGENMITENITE LN
(A)  Yolucd

(B) H[scgdia

(C)  ™E Mayid

(D) iz 54

(E) asslnd

AAl= 240Ul Bisednisll Jl srcdied wus s3l.
(1)  (A) 2 (B) Mo

(2)  (A), (D)2t (E) WA
(3) (C), (D) i (E) 1A
(4)  (B) 2 (C) uiA

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 5330727579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ElAaaf@edAl 2ucnsaiil :
(A) Yoy

(B) lscydia

(C) ™3 Veriyxid

(D) 4z 56

€) sl

A2 20l [Eseuniisll wiel seeer wis 53
(1) (A) i (B) WA

(2) (A), (D)2 (E) WA
(3) (C), (D) i (E) HIA
(4) (B) 2 (C) uiAt

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5330727580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

goeidid AL gsraidl Alcunl Slagiusial :
(A)  Wdarel 21 2svridl [[evar

(B)  2lsraldt 2ies 823 [Mz3z

(C) stz Wdarel 25 vyeradl [az3z
(D)  scllise Wizieu s dsraud

(E) Hosrz w22 g svauel [Ge3r

AAl2 2L Fseunial diml seeiet YMe sal.
(1)  (A), (C) 2 (E) ui

(2) (Q), (D) i (E) 4t

(3) (B), (C) =i (D) HiA

(4) (A) 2 (B) WAt

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 5330727580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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sreidid Al sl Alcun Slagiusial -
(A) W2l g 2psvzidl [[evur

(B)  2lseaud s 823 [@2ruR

(C) 543 Hdarelr 25 2ysvaudl [azvaz
(D)  scllRise wiziey s dsld

(B)  Hotez w22 25 vpsvaiel [Ge3uz

Al 2L [Asednisl sl sralel YiE Sl
(1) (A), (C) 24 (E) ui

(2) (C), (D) i (E) HIA

(3) (B), (C) i (D) %A

(4) (A) 2 (B) WA

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5330727581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=~

elracany oeellAi ol wslisnl
(A) Mg ML

(B)  wellx Bt B84 sl

(€)  Asrdl ounid Silagias cszel

(D) iauzall sausri o

(E)  {MGi2L 15281

AAl2 240Ul Bisednisll Jl srdied wus s3l.
(1)  (A) 2 (E) WAt

(2) (B), (C) i (E) 4zt

(3) (B), (C) =i (D) HiA

@) (C) (D)2 (E) wr

)
)

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 5330727581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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-

¢lrecaoy o ellAi cunilEmas el
(A) Mg oML

(B) weslx S 22 Ui

(C)  asraidl ounid SlasiRs cusiel

(D) i=uRall auerHl o

(E)  2{ueisl 41538l

A2 2l [Eseuniiall wiel sraier YAE 53
(1) (A) i () WAt

(2) (B), (C) i (E) HiA

(3) (B), (C) i (D) %A

4) (C), (D)2 (B) wrt

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330727582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

oLetAE IR vedAl 2ulEau] dildcd (s datian o
(A) st 2ulEausdl Sl

(B) il wesiel

(C)  vsrxiarl wlEard dlldcudl sl
(D) &Rl ol 2uEar{li

(E) 2l il : [ 2 [Beaye
Al 2L Fseuniiall diel seeiet YME sal.
(1) (A) 2 (Q) niA

) (D)A (E) WAt

(3)  (A), (B) i (C) WA

@) (B) 21 (D) WAt

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 5330727582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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MLAIAE R Uzdrl Bl Ml [EAvas Haliaq oy
(A)  Useetl 2ulEard Slhu

(B)  lseuxdl weisiedl

(C)  AsructAl 2uERdl wilRedel Slde
(D) &Rl ol 2uEar{li

(E) 2kl Al : [Adud 2 [Hedye
Al 2yl [Asednisl sl sralel YE 3.
(1) (A) 2 (C) 4

) (D)2 (E) WAt

@) (A) (B) @A (C) WA

@) (B) 24 (D) WAt

)
)

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5330727583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

auldons 2uuiAL 2z Ea-Hulka 2l
(A)  swsldissul

(B)  &lgel ayerziasl 5ol cudizil

(C)  se-otzlldl disuizglas xgal

(D) swluesiald

(E) oud uzail dissuiil

AAl2 2L Fsedniall diml sedier YME sal.
(1) (A), (B) @i (C) ui

(2) (B), (C) i (D) 11

(3) (A), (B) 2 (D) WA

(4) (A) 2 (E) Wit

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 5330727583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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gitldeus 24RAL M2l Ea -t el
(A)  sldissul

(B)  elgeLapsruiasl sell cidizl

(C)  sw0-otzll-l disuivglas xgel

(D) swlaesald

() od uezll dissuiil

Al 2L [Asednisl sl sralel YiE 3.
(1) (A), (B) & (C) ui

(2) (B), (C) i (D) HIA

(3)  (A), (B) 2id (D) HA

(4) (A) 2 (B) WAt

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 5330727584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al$52UIAL 2A3U2A HEELL
(A)  oilsct ueAdL

(B) 5%l Ullricll

(C)  wsidal di iz 215
(D) [l s2udidl

(E)  =itefsaui vis@adl
A= 240Ul Bsednisll Jl srciet wus s3l.
(1) (A), (B) @i (C) ui
(2) (B), (C) i (D) 1
(3) (C), (D) i (E) 1A
(4) (A) 2 (D) WA

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 5330727584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Alss2lAL @32 QHOILL
(A)  ®lsa Ut

(B) 5% Uelricll

(C)  wsiazl odi Hiles 2is
(D) [Aldm s2gidl

(B)  ilGteufsaui vis@adl
A2 2l [seuniall wel sreer YAig 53
(1) (A), (B) & (C) ui
(2) (B), (C) i (D) HiA
(3) (C), (D) i (E) HIA
(4) (A) 2 (D) HA

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 5330727585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

izl 23U QBRI :

(A)  MReAiszAL [Aar] 9.

(B)  lsctvish ilscxivae [Hane 52 9.
() 2iolatei 2ids wRHwll.

(D) [ % GlEHAL a8,

(E) agulaell gy

AAl= 20Ul Bisednisll Jl srcied wus s3l.
(1) (A), (B) @i (C) ui

(2) (B), (C) i (D) 1

(3)  (A) =i (B) WA

(4) (B), (D) 2t (E) ®iA

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 5330727585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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izl 2321 QEeLL
(A)  WlsreL Aol 9,
(B) Mlsctuish vilsarivaie [ 52 9.
(C)  2ioilai =ids wlwwell.
(D) [ % GlEHAL RS
(E) @zl zazu.
Al 2L [Asednisl sl sralel YE 3.
(1) (A), (B) & (C) ui
(2) (B), (C) i (D) HiA
(3) (A) i (B) WA
(4) (B), (D) 2 (E) 1A

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5330727586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[euiaz uddl asvaidl Mileeuril glazil :
(A)  2weudl

(B) sl udd

(C)  2iedloldl

(D) oddsl

(E) &laala

AAl= 240Ul Bisednisll Jl srdied wus s3l.
(1) (C), (D) 2 (E) 11

(2) (A), (B) 2 (E) HiA

(3) (B), (C) =i (D) HiA

(4) (A) 2 (B) WAt

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 5330727586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[seuiaz urdl asvaidl Ailecurdl lazil:
(A)  wend

(B) B+l udd

(C)  2Aealoidl

(D) oddsl

(B) slaualza

A2 2l [seuniell wel seeier YAE 53
(1) (C), (D) ¥+ (E) niA

(2)  (A), (B) 2 (E) wiA

(3) (B), (C) i (D) %A

(4) (A) 2 (B) WA

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5330727587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AlzureguAl glai:
(A) sl ke
(B)  Glsveliqyr
(C) &Rl

(D) &idilast

(E) 23ledys

AAl= 20Ul Bsednisll Jil srdied wus s3l.
(1)  (A) 2 (B) Mo
(2) (C) 2t (D) 4
(3)  (A) =i (D) WA
(4) (D)2 (E) Wit

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 5330727587 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Azl gla2ii:
(A)  Aaazil dre
(B)  ulsrdirgyr
(C) «srlvl

(D) &isilast

(E) =2lolwds

A2 2l [seuniall wel sreer wAg 53
(1) (A) i (B) WA
(2) (C) i (D) HiA
(3)  (A) i (D) WA
(4) (D)2t (E) WAt

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330727588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘oAl Wz’ Hi A sl

(A) s
(B) Bl
(C) oud
(D) dld
() oy

AAl= 240Ul Fisednisll Jil srdied wus s3l.
(1) (A), (B) @i (C) ui

(2) (B), (C) i (D) 1

(3)  (A) =i (B) WA

@) (C) (D)2 (E) wr

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 5330727588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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‘ol Wlur? |l A Al

(A) sa
(B) bl
(C) ous
(D) dld
(E) oy

A2 20l [Esedniiall wiel seeer wis 53
(1) (A), (B) & (C) ui

(2) (B), (C) i (D) HIA

(3) (A) i (B) WA

4) (C), (D)2 (B) wrt

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5330727589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

b 2106l 218 WA 2uasUHAl AdEd ARl
(A)  2eER 2U[Gedc €l sad,

(B)  uogldl 5[l ascRYsA lal .
(C) o5 olaHl ualtd élal s,
(D) ueqled WY, MUIE, AIASYsd Elal st
(E) 20518 sledsin Hunst dlal sgl,
Al 20Ul Bisednisll Jil srcied wus s3l.
(1)  (B), (C) i (E) Hi

(2)  (A) =i (B) WA

(3) (C) =i (D) HiA

(4) (A), (D)2 (E) WA

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 5330727589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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b 2106l 218 WA 2usHAl A Azdl
(A) 205 2UGedcy el g,

(B)  uvgld sl AscURYSA el sl
(C) B ol suafid élal edd2l,
(D) et WA, UUIE, AIASUYSA Elal sddal,
(E) 20818 sledgid Uusst dlol sdgal,
Al 2L [Asednisl il sralel YE 3.
(1) (B), (C) 2 (E) Wit

(2)  (A) =i (B) A

(3) (C) =i (D) A

(4) (A), (D)t (E) WAt

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 5330727590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

iyl suleie

(A)  oulbs Hsd qHA AelHs A2l
(B)  terdicHs b (A2 e ©,
(C)  islad =i [Geuadl 9, 214 ©.
(D) o™l 24 cvie (G S,

(E) v aellel ulsud ©.

A= 240Ul Bisednisll Jl srdied wus s3l.
(1) (B), (C) @i (D) 1A

(2) (A), (B) 2 (C) 1

(3) (A), (D)t (E) WA

(4) (A) 2 (E) Wit

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 5330727590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 95/128



8/30/24, 11:23 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

CIESEL (RETICRTEETE

(A)  ®LlEs 2sd w3y Yz s 9l
(B)  tardicHs b [Aem M ©.
(C)  idlad =i [Geua 9, x4 9.
(D) ML e Gt (G ©,

(E)  dvid aellel alsad ©.

A2 2l [seuniisll wiel sreier wiE 53
(1) (B), (C) 211 (D) %A

(2) (A), (B) 2 (C) 1A

(3)  (A), (D)2 (E) HA

(4) (A) 2 (B) WAt

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 5330727591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Al Az

(A) sl €M S d qaL s s,
(B) 20l sl UEHA g ©, el ulHErE wdld Xl
(€) sl daoll qvg Hlla ud w8 9.
(D) UAodl 2Arey YRcsdL D,

(E)  lles2uo Adidy [21sR .

A= 240Ul Fisednisll Jl srdied wus s3l.
(1) (B) 21 (C) uiA

(2) (B), (C) i (D) 1

(3) (C), (D) i (E) 1A

(4) (A), (B) 2 (C) wiAt

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 5330727591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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SC R ETIMSICDTEETE

(A) el RusUA €M O d L s[E D,
(B)  20uirl slAcusl HEHUA g B, weL uRHEFE wcd Al
(C)  slacusl daoll axg Mlldm ad @ 9.
(D) Aol 2Ardey YRl O,

(E)  les2uol Adidy s .

Al 2yl [Asednisl sl sralel YE Sl
(1) (B) 2 (C) uiA

(2) (B), (C) i (D) HiA

(3) (C), (D) i (E) HIA

(4) (A), (B) 2 (C) 1

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 5330727592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A eRIHAL Ml =l

(A) % 53l db steuml Glard ve wud ©.

(B)  Hollel 2 M1zl 25+ 2eeilds sn 9, wel d-l Gl 4l
(C)  [Buird suigaidl awelldl usi, se- dldl sdeux,
(D) Grayra el 48 seunlq g2l d 58l

(E) IR 24 uiglell 24 AsiRid disl uisel.

AAl2 2L Fsedniall diml sedier YME sal.

(1) (A), (B) @i (C) ui

(2) (B), (C) i (D) 11

(3)  (A), (B) @i (E) 1A

@) (C) (D)2 (E) wr

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 5330727592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Al AllEc 22l

(A) 53l db sleaml Glarg ve 4 ©.

(B)  Hollel L M1zl 25+ 2euciiles sn 8, we d-l G 4l
(C)  [Burd suiasidl suelldl usk, sod fidl sea.
(D) Graqrwy il 48 seudl g2l d slEal

(B) Izl 2% qvilelel 24 Asizid digl wisal.

Al 2yl [Asednisl sl sralel YE 3.

(1) (A), (B) & (C) ui

(2) (B), (C) i (D) HiA

(3)  (A), (B) i (E) A

4) (C), (D)2 (B) wrt

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 5330727593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I CRMRETH C1 8 DTS RTRTI CE RN CHETR CETE

(A) sl 2 (AR a2 wisfeys Holy wddl ©.

(B)  eusiEiEeil ubumi einiEaiidnl Rieaididl BlAion gl s,
(C) (Al 24 za-l deud 9.

(D) (&R [FriAl ot 4 €l us.

(E)  ssell Wit cqagiz 9, 200 sl 3 wausly s 8l
AAl2 2L Fsedniall diml sedier YME sal.

(1) (A), (B) @i (C) ui

(2) (B), (C) i (D) 1

(3)  (A) =i (B) WA

(4) (A), (B), (C) ¥+ (E) HiA

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 5330727593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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uelle UlRael [l ouEsud Bal [[s

(A)  onL 2 [ 9=al wieRiys Holy 3¢dl 9.

(B)  ouniRigteil uHl srulEsiiAndAL Reaididl Flaion ydl s,
(C)  [@l 2 2anl veund 9.

(D) (@R [Eel ot 4 €l 2.

(E)  sdsoll wit ez ©, 201 sl % wiusly 530 4l
Al 2L [Asednisl sl sralel YiE 3.

(1) (A), (B) & (C) ui

(2) (B), (C) i (D) HIA

(3) (A) i (B) WA

@) (A), (B), (C) 217t (E) ™At

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 5330727594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

peeior slami [M3wHa wimt s 2Hedl
(A)  eAsesr il uld Al2RIA.

(B)  risruiell #I2{ 220341 IHLO 2 WL,
(C)  Asywat ulel 24 [ttt opeedl nlABL sl uedl 52 9.
(D)l s3ofl 24 [ilEa.

(E) UL LI SIR0L

Al el [Aseupiisl izl svalel uxe sl
(1) (A) 2 (B) At

(2)  (A)2 (C) 4

(3) (B) 2 (D) uiA

(4) (D)2 (E) Wit

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 5330727594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“pseior slami M3wsa Wit sy Hedl
(A) sy Al uld Ale1.
(B)  risy¥uirll M3 2134 MHLO 2 WAL,
(C)  rtsrant ufet 2 [Retirtt 3p¢eil WeABL sanael Wael 53 9.
(D) uld s3dioll 244 [EUEA.
(E) MU 2oL SIREL
A2 240l [Bsedniisl ARl sraiel wuE sl
(1) (A) i (B) WA
(2)  (A) 2 (C) HiA
(3) (B)2id (D) HiA
(4) (D)2t (E) WAt

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 5330727595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“[orsallarml Adasul Hedl :

(A)  AYLSULAL SwgHL UV EL A D,

(B) P oAl mlel asg [l sl

(C)  distlleldl Aol 2 dgasul [alsdl 244 wuisL.
(D) [as @uidl 244 21904d 2L 13 6 401 512 4319 9,
(E) oud [Aousrd wsl-l Rulad 2udviq.

Al 2L Fsednial wiml sedier YuE sal.

(1) (A), (C) 2 (D) A

(2) (B) =2 (C) uiAt

(3) (Q), (D) i (E) wiA

(4) (A), (B) 2 (C) wiAt

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 5330727595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[ovgallamr Asasul +gdl :

(A)  AAG5UAL S HL SUAYELAM D,

(B) B ootedl A&l g ladl suL

(C)  diselidlAl Elaeior 2 Agdsuil Feindl 24 wuieL
(D) [Assil cvidl 24 2080 2L WA 6L s30ie 512 4314 O,
(E)  ouzd [Aowsrd usll Ruldd 2udvu.

Al 2yl [Asednisl sl sralel YE 3.

(1) (A), (C) 2 (D) WA

(2) (B) =2+ (C) uiA

(3) (Q), (D) 2 (E) HiA

(4) (A), (B) 2 (C) 1

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 5330727596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Ushe gladl suirdl s

(A)  NsNYU e WsSH 922 U, YEAL

(B)  dirisd Asoiusl uHilGisdl uz udl 2ist.
(C) A5 wesu-l azewela sz duis.
(D)  HiesHA vslednsrl 2o dAlE sddz s34 ©.
(E) W5 Wssee e astll oy 53 A ©,
AAl2 2L Fsednial diml sediet YMe s3l.
(1)  (A), (B) i (D) A

(2) (B), (C) i (D) 1

(3) (C), (D) i (E) 1A

(4) (A) 2 (E) Wit

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 5330727596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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“Ush gl suel sl
(A)  NsNY i W55 9422 U] YA

e Wl

(B)  @irllsd AsoiuAl uHiBscl wr udl 2isL
(C) 501U HesHl 2ol wlsize duik.
(D)  HiesHeA wslzdesrl 2o dxld sddz s34 ©.
() 5012 Hssge wg asdl o 53 A ©.
AAl5 240 [Eiseuniall Al seciet wis s3l.
(1) (A), (B) @i (D) 11

(2) (B), (C) i (D) HIA

(3) (C), (D) i (E) %A

(4) (A) 2 (B) WAt

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 5330727597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

cisl wildcusi

(A) Gl AldcH.

(B)  aesalel 2izg(d 28 zledl.
(C)  Yaeisell wURAA YUY,

(D) el Aldad GuadioL

() disceaed e dxlb 249210l
Al 2L Fseuniiall diel seeiet YME sal.
(1)  (A) 2 (E) WA

(2) (B) 2+ (D) HiA

(3)  (A), (B) 2 (C) HiA

@) (C) (D)2 (E) wr

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 5330727597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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clisBi uU@cusi

(A)  @viAHi Hidcy.

(B)  esalel xrgld g arlell
(C)  Yelsell AUURAA HUSY.

(D) el Aldad Guadio

() discrad zudee o<ls 2110l
A2 2l [Eseuniiall wiel sraier YAE 53
(1) (A) i () WAt

(2) (B) 2+ (D) HiA

(3)  (A), (B) 2 (C) HIA

4) (C), (D)2 (B) wrt

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330727598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hieellszer (SRl sgArsl Hd

(A)  GUASCA MR d o UIHRS5REL

(B) arellswel Feuald au ©.

() arellsel Al euasl Higzul (e [Hare a9,
(D) i3l (Bt §3 5294l S UELY €le, mdl,
(E) i [Get §2 530l A2l UG HEEIY ¢ B,
AAl2 2L Fsedniial dml sediet YME s3l.

(1) (A), (C) 2 (D) A

(2) (A), (B) 2 (C) 1

(3) (B) 2 (C) uiA

(4) (D)2 (E) Wit

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 5330727598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hiezellsrel (431 elzrds-l 1 :

(A)  ®Idscd IR d o AlERe(lseL

(B) arellswol Feualed ax 9.

()  arellswer &l ouasl Wil [[edd [Hare ax 9.
(D) i3l (Gt 53 52Ul $1e Mg €lo, md,
(E) i [Aed §2 5300 ALzl UOUE HEETY o ©,
Al 2yl [Asednisl sl sralel YE 3.

(1) (A), (C) 2 (D) WA

(2) (A), (B) 2 (C) 1A

(3) (B) i (C) WA

(4) (D)2t (E) WAt

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 5330727599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gl A AEl-IT A 1Al

215l-1 18l-11
(A) =g ()  &dud =le
(B) uiaell () ¢de Rael
(€ (1 [6g o
(D) [ELilBaL 518 vy Bz gaud

Al 20 [Bsedimisll MRl seaier uiE sl
(1) (A, (B)-(II), (CO)~(LLL), (D)~(1V)
(2)  (A)-(11D, (B)-(11), (C)-(1V), (D)-(1)
(3)  (A)-(IV), (B)-(1LI), (O)~(1D), (D)-(D)
4) (A1), (B)-(IV), (O)-(1), (D)-(I)
Options :

1.1

2.2

3.3
4.4

Question Number : 126 Question Id : 5330727599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 QgL
(A) =il ()  edud ke
(B) aiaell (1) ¢de Beiel
(@ T (I [og o
(D) [ERflEa 518 vy BHle guud

Al 2L [Eseqmisl 2l svdier Wig s30.
(1) (A)-D), (B)-(I), (O)~(II), (D)-(IV)
(2)  (A)-(1D, (B)-(ID), (O)-(1V), (D)-(D)
(3) (A)-(1V), (B)-(1LI), (O)-(1D), (D)-(D)
4) (A, (B)-(IV), (O-(1), (D)-(I)
Options :

11

2.2

3.3
4.4

Question Number : 127 Question Id : 5330727600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 QgL
(A) del M) ez
(B) &Rel (1) ouaAibERRE2w
(C) €l AUSIHIR (1) seufEaia
(D)  ide 2lldlezr (IV)  avilE

Al 2L [Esedmigl 2l svaiet WiEg $30.
(1) (A, (B)-(IV), (O)(1), (D)-(I)
(2)  (A)-(IV), (B)-(ILI), (O)~(ID), (D)-(I)
(3) (A, (B)-(I), (O)~(1V), (D)~(1I)
@) (A)-(D), (B)-(ID), (O)~(11), (D)-(IV)
Options :

11

2.2

3.3
4.4

Question Number : 127 Question Id : 5330727600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 QgL
(A) el M) ez
(B) &Rel (1) ouaAibERRE2w
(C) €l AUSIHR (1) seufREaia
(D)  ide 2lldlezr (IV)  avilE

Al 2L [Eseqmisl 2l svdier WiEg s30.
(1)  (A)-(II), (B)-(IV), (C)~(1), (D)-(1)
(2 (A)-(1V), (B)-(1LI), (O)~(1D), (D)-(I)
(3) (A, (B)-(I), (O)~(1V), (D)~(1I)
@) (M0, (B)-(ID), (O~11), (D)-(IV)
Options :

11

2.2

3.3
4.4

Question Number : 128 Question Id : 5330727601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 Yel-I1
(A) LA (1) sl (530
(B)  HIGLAMLIOLA () [Ezivel yls
(C) IRMPIRH @ Baulemedl G306
(D) Hisuis (V) 2ivilas el (3l

Al 2L [Eseqmisl 2l svdier Wig s30.
(1) (A)-D), (B)-(I), (O)~(II), (D)-(IV)
(2)  (A)-(1D, (B)-(ID), (O)-(1V), (D)-(D)
(3)  (A)-(IV), (B)-(I), (C)-(1I), (D)~(1ID)
4) (A, (B)-(IV), (O-(1), (D)-(I)
Options :

11

2.2

3.3
4.4

Question Number : 128 Question Id : 5330727601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 Yel-I1
(A) A () sl (53
(B)  HIGLAMLIOLA () [Ezivel yls
(C) RMPIRH @ Baulemedl G306
(D) Hisuis (V) 2ivilas el (3l

Al 2l [Eseqmigl 2l svaier WiEg $30.
(1) (A)-D), (B)-(I), (O)~(II), (D)-(IV)
(2 (A)-(ID, (B)-(ID), (O)-(1V), (D)-(D)
(3)  (A)-(IV), (B)-(I), (C)-(1I), (D)~(1ID)
@) (A, (B)-(IV), (O)-(1), (D)-(I)
Options :

11

2.2

3.3
4.4

Question Number : 129 Question Id : 5330727602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 QgL
(A) sl 0 yadl
(B) e () ARl
(€) =l4 @y uzell
(D) =4l (IV) =xlctdl

Al 2l [Eseqmigl 2l svaier WiEg $30.
(1) (A)-D), (B)-(II), (O)~(II), (D)-(IV)
(2  (A)-(ID, (B)-(I), (O)~IV), (D)~(I)
(3) (A1), (B)~(IV), (O)-(1), (D)-(I)
@) (A)-(1V), (B)-(IL), (O)~(1D), (D)-(I)
Options :

1.1

2.2

3.3
4.4

Question Number : 129 Question Id : 5330727602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 107/128



8/30/24, 11:23 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

QgL A @E-TT HE Havdl.

Qzl-1 QgL
(A)  sel 0 Yadl
(B) e () ARl
Q) =g (I uzell
(D) =4l (IV) =xlctdl

Al 2L [Eseqmisl 2l svdier Wig s30.
(1) (A)-D), (B)-(II), (O)~(II), (D)-(IV)
(2 (A)-ID, (B)-(I), (O)-(1V), (D)~(I1)
(3) (A1), (B)~(IV), (O)-(1), (D)-(I)
4) (A)-(1V), (B)-(IL), (O)~(1D), (D)-(I)
Options :

11

2.2

3.3
4.4

Question Number : 130 Question Id : 5330727603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 AEL-11
(A) il 2rueia () =REeuy Ealka
(B) Wl 2yl () 5.5 aurHl
(©) sl agsraidl () 5.0 g4
(D) W1 2ls/% (IV) Guist sdall

Al 2L [Eseqmigl 2l svdier WaiEg $30.
(1) (A)-(IV), (B)-(ILT), (C)~(1D), (D)-(I)
(2) (AL, (B)-(ID), (O)-(D), (D)-(1V)
(3) (A1), (B)-(LI), (C)(ID), (D)-(1V)
@) (M-I, (B)-[0), (O)~(11), (D)-(IV)
Options :

11

2.2

3.3
4.4

Question Number : 130 Question Id : 5330727603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 AEL-11
(A) il 2rusia () =Ry Ealkw
(B) Wl 2yl () 5.5 aurHl
Q) sl agsraidl () 5.5 44
(D) W1 2ls/% (IV) Guist sdall

Al 2l [Esemisl 2l svdier Wig s30.
(1) (A)-(IV), (B)-(ILT), (C)~(1D), (D)-(I)
(2)  (A)-(), (B)-(ID), (©O)-(D), (D)~(1V)
(3) (A1), (B)-(LI), (C)(ID), (D)-(1V)
@) (A1), (B)-0), (O~11), (D)-(IV)
Options :

11

2.2

3.3
4.4

Question Number : 131 Question Id : 5330727604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 Yel-I1
(A)  GANSdRI ELSIR (1) oAl otzsy siERIA © dl s ueL 9.
(B) wmaed Hlass () HlEct-s01-sEal Bzl 2u-e 1 9.
(C)  [repaie Beasl (D) wlrticlieAl 2ueie slEd A€, wergsd 2w 9.
(D) &Ry (V) st ulaousd]l ulaidl 2 [Gad b 9.

Al 2L [Esemisl 2l svdier WiEg s30.
(1) (A, (B)-(II), (O)~(II), (D)-(IV)
(2)  (A)-(IV), (B)-(1LI), (O)~(1), (D)-(II)
(3) (A1, (B)-(I), (O)~(1V), (D)~(1I)
4) (A, (B)-(IV), (O1D, (D)-(I)
Options :

11

2.2

3.3
4.4

Question Number : 131 Question Id : 5330727604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 Yel-I1
(A)  GANSdRI EL51R (1) oAl otzey siERIA © dlssfid w9,
(B) wmaed Hlass () HlEct-s01-sEal Bzl 2u-e 1 9.
(C)  [repiaie Besl (I)  wletieiel 2eie slEd A&, s o 9.
(D) &Ry (V) st ulaousd]l ulaidl 2 [Gad b 9.

Al 2l [Esemigl 2l svdier WiEg $30.
(1) (A, (B)-(II), (O)~(II), (D)-(IV)
(2 (A)-(1V), (B)-(ILI), (O)~(I), (D)-(II)
(3) (A1, (B)-(I), (O)~(1V), (D)~(1I)
@) (A, (B)-(IV), (O~(1D, (D)-(D)
Options :

11

2.2

3.3
4.4

Question Number : 132 Question Id : 5330727605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QLT A Wigl-T1 A8 Azl

Qg1 Q11
(A) weustdl dsradl 20 () gHRUN EAE
(B) syl ulldcumane (1) yriednl
(€)  Ae¢Rgd ‘susellar (1) 2ulE, 240031
(D)  iedga © 25 2t (IV)  éuloiA ued
Al 2L Esedimidl wil sealel yue S
(1) (A)-(I), (B)-(IV), (O)-(1D), (D)-(I)
(2)  (A)(IV), (B)-(IID), (CO)-(1D), (D)-(I)
(3) (A0, (B)-(ID), (O)-(I), (D)-(IV)
4) (A1, (B)-(1), (O-(IV), (D))

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 5330727605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QiEl-T A wELIT A8 Hvel.

Qzl-1 Q|11
(A) weustdl dsradl 20vu () gHRn S
(B) syl ulldcumane (1) yriednl
Q) AreRgd ‘susellar (1) 2ulE, 240031
(D)  iedga © 25 2t (IV)  éuloiA ued
Al 2L Esedimiddl wil sealel yuis Sl
(1) (A)-(I), (B)-(IV), (O)-(1D), (D)-(I)
(2)  (A)(IV), (B)-(ID), (CO)-(1D), (D)-(I)
(3) (A0, (B)-(ID), (O)-(I), (D)-(IV)
(4)  (A)HID, (B)-(1), (O-(1V), (D))

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 5330727606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 Q-1
(A)  Seus¥aue () er2sd 8182
(B)  Alsrilz 2 Ung () sl ad
(C)  2Uug] distiz Meud (D) weudz lass
(D)  dislza oes (IV)  sryHea YRR

Al 2 Cseqiial Al sedie g 3.
(1) (A, (B)-(II), (C)-(IT), (D)~(IV)
(2) (A, (B)-(I), (O-(1V), (D)-(IT)
(3) (A1), (B)-(I), (O)~(I), (D)-(1V)
4) (A)-(1V), (B)-(IL), (O)~(1D), (D)-(I)
Options :

11

2.2

3.3
4.4

Question Number : 133 Question Id : 5330727606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 Q-1
(A)  SeusHue () orasd 8157
(B)  Alsrilz 2 Ung () sl ad
(C)  2Uug] disiza qeud () weudz lass
(D)  dislza oes (IV)  sryHea YRR

Al 2 Esedqiial Al seaiet g 30
(1) (A)-(D), (B)-(1I), (C)(ID), (D)-(IV)
(2) (AL, (B)-(D), (O-(1V), (D)-(I)
(3) (A1), (B)-(I), (O)~(I), (D)-(1V)
@) (A)-(1V), (B)-(IL), (O)~(1D), (D)-(I)
Options :

11

2.2

3.3
4.4

Question Number : 134 Question Id : 5330727607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 Q|11
(A)  durlsr-ozrlsr UGS () [Beraog YR
(B) [Brulham vy () dkweieyR
(C)  uedscald (1) oflx
(D) 2AURMALEL (IV)  [Erxyg

Al 2l [Eseqmisl 2l svdier WiEg $30.
(1) (A)-(IV), (B)-(I1D), (C)~(11), (D)-(I)
(2)  (A)-(ID, (B)-(IV), (O)-(), (D)~(I)
(3) (A1), (B)-(I), (O)~(I1D), (D)-(1V)
@) (A, (B)-(D), (O-(IV), (D)-(I)
Options :

1.1

2.2

3.3
4.4

Question Number : 134 Question Id : 5330727607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 Q|11
(A)  durlsr-ozrlsy UGS () [Beraog YR
(B) [Brulham vy () dkweieyR
(C)  Hedscuald (1) ol
(D) 2AURMALEL (IV)  [Erxyg

Al 2L [Esemial Al svdier WiEg s30.
(1) (A)-(IV), (B)-(I1D), (C)~(11), (D)-(I)
(2 (A)-1D, (B)-(IV), (O)-(1), (D)~(1)
(3) (A1), (B)-(I), (O)~(I1D), (D)-(1V)
4) (A, (B)-(D), (O-(IV), (D)-(I)
Options :

11

2.2

3.3
4.4

Question Number : 135 Question Id : 5330727608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 QgL
(A)  ® (e edlq (1) UeI2isT HoANERsT
(B)  #xdl viidi Wi w6 (I)  S4E srHMzL
(C) Ml el (1) Hzisg
(D) Al (IV) Gzl Ba1d

Al 2l [Eseqmisl 2l svdier WiEg $30.
(1) (A)-(IV), (B)-(I1D), (C)~(11), (D)-(I)
(2 (A)-D, (B)-(IV), (C)-(1I), (D)-(1)
(3)  (A)-(IL), (B)-(IV), (CO)-(I), (D)~(I11I)
@) (A, (B)-(D), (O-(IV), (D)-(I)
Options :

1.1

2.2

3.3
4.4

Question Number : 135 Question Id : 5330727608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 QgL
(A)  ® (e edlq (1) UMIIET HoANEAGET
(B)  #xdl viidi Wi w6 (I)  S4E srHMzL
(C) il el (1 Hiisg
(D) Al (IV) Gzl Ba1d

Al 2L [Esemial Al svdier WiEg s30.
(1) (A)-(IV), (B)-(I1D), (C)~(11), (D)-(I)
(2 (A)-D, (B)-(IV), (C)-(1I), (D)-(1)
(3)  (A)-(IL), (B)-(IV), (CO)-(I), (D)~(I11I)
4) (A, (B)-(D), (O-(IV), (D)-(I)
Options :

11

2.2

3.3
4.4

Question Number : 136 Question Id : 5330727609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 QgL
(A)  5lmst Uoi™ (1) . GHiist sdell
(B) w@al () A %ol s
(C)  Aseislxl (L) % Hereld HerqER
(D) 2ua{lal (V) 2. ¢y ulzis

Al 2l [Esedmisl 2l svdier Waig s3.
(1) (A)-(ID, (B)-(IL), (O)-(1V), (D)-(D)
(2 (A)-(ID, (B)-(I), (O)-(1V), (D)~(I1)
(3) (A1), (B)-(LI), (C)(1D), (D)-(1V)
@)  (A)-(IV), (B)-(1), (O)-(), (D)-(I)
Options :

11

2.2

3.3
4.4

Question Number : 136 Question Id : 5330727609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 QgL
(A)  5lest Uoi™ () . GHRist sdell
(B) w@al () A %ol s
(C)  Aseislxl (IT) . Hereld HerqER
(D) 2ua{lal (V) 2. ¢y ulzis

Al 2l [Esemigl 2l svdier WiEg $30.
(1) (A)-(ID, (B)-(IL), (O)-(1V), (D)-(D)
(2 (A)-(ID, (B)-(I), (O)~1V), (D)~(I)
(3) (A1), (B)-(LI), (C)(1D), (D)-(1V)
@) (A)-(IV), (B)-(I), (O)-(I), (D)~(I)
Options :

11

2.2

3.3
4.4

Question Number : 137 Question Id : 5330727610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 QgL
(A) il M Blaux
(B) Giiwsvx (I) USRI
() [52il (1) & 241Gz WP
(D) s (IV) & oyZled aedd 212 iz 42 ol

Al 2l [Eseqmigl 2l svdier WiEg $30.
(1) (A)-(IV), (B)-(I1D), (C)~(1), (D)-(1I)
(2) (AL, (B)-(I), (O)-(ID), (D)-(1V)
(3)  (A)-(IL), (B)-(IV), (C)-(I11), (D)-(I)
@) (A)-(IV), (B)-(I), (O)-(I), (D)~(I)
Options :

1.1

2.2

3.3
4.4

Question Number : 137 Question Id : 5330727610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 QgL
(A) il M Bliux
(B) Giiwsvx (I) USRI
(C) [62 (1) & 216z HPR
(D) s (IV) & oyZled aedd 212 iz 42 ol

Al 2l [Eseqmisl Al svdier Wug s30.
(1) (A)-(IV), (B)-(I1D), (C)~(1), (D)-(1I)
(2)  (A)-(), (B)-(I), (O)-(1L), (D)~(1V)
(3)  (A)-(IL), (B)-(IV), (C)-(I11), (D)-(I)
@)  (A)-(IV), (B)-(1), (O)-(), (D)-(I)
Options :

11

2.2

3.3
4.4

Question Number : 138 Question Id : 5330727611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 QuEl-11
(A) o262 Wb (0 [l e
(B) iz 51 ¢ 2= 2U1Gws (1) MiRel gd1d
(C)  o32lsd A R Iz ¥z olid (IM) 3331 adrl
(D) uB-lxaix (IV) udlel g2

Al 2L [Eseqmisl 2l svdier WiEg s30.
(1) (A, (B)-(IV), (O)(1), (D)-(I)
(2 (A)-(1V), (B)-(1I), (O)-(1), (D)~(I1)
(3) (A1, (B)-(ID), (O)-(1V), (D)-()
@) (M0, (B)-(ID), (O~11), (D)-(IV)
Options :

1.1

2.2

3.3
4.4

Question Number : 138 Question Id : 5330727611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 QuEl-11
(A) o262 Wb (0 [l e
(B) iz 51 ¢ 2= 2U1Gws (1) MiRel gd1d
(C)  o32lsd A R Iz ¥z olid (IM) 3331 adrl
(D) uB-lxaix (IV) udlel g2

Al 2L [Eseqmisl 2l svdier WiEg s30.
(1) (A, (B)-(IV), (O)(1), (D)-(I)
(2 (A)-(1V), (B)-(1I), (O)-(1), (D)~(I1)
(3) (A1, (B)-(ID), (O)-(1V), (D)-()
@) (M0, (B)-(ID), (O~11), (D)-(IV)
Options :

11

2.2

3.3
4.4

Question Number : 139 Question Id : 5330727612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qzl-1 Q|11
(A)  SUAMHIRS HOLL (D gz Fasl
(B) syt il ot () sHae el
(C)  stotxt Asr1dl Ao (L) £IE10UY AAsLSY
(D) il Hue (IV)  zeilsyctaiy wédl

Al 2L [Eseqmisl 2l svdier WiEg s30.
(1) (A, (B)-(IV), (O)(1), (D)-(I)
(2 (A)-(D), (B)-(II), (O)~1L), (D)-(IV)
(3) (A)-(1V), (B)-(1L), (O)-(1D), (D)-(D)
@) (A1), (B)-0), (O1V), (D)~11)
Options :

11

2.2

3.3
4.4

Question Number : 139 Question Id : 5330727612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qzl-1 Q|11
(A)  SUAMHIS MOl (D g Bl
(B) syt il ot () sHae el
(C)  stof AgsrR1dl Ao (III)  EIE10UY AsLeY
(D) il Hue (IV)  zeilsyctaiy wédl

Al 2L [Esedmigl 2l svaiet WiEg $30.
(1) (A, (B)-(IV), (O)(1), (D)-(I)
(2 (A)-D), (B)-(I), (O)~11), (D)-(IV)
(3) (A)-(1V), (B)-(1L), (O)-(1D), (D)-(D)
@) (M-I, (B)-[0), (O(1V), (D)~(11D)
Options :

11

2.2

3.3
4.4

Question Number : 140 Question Id : 5330727613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QgL A @E-TT HE Havdl.

Qg1 el
(A)  uegdlsLAE] () HiEHHE Hiss
(B) e (1) 2pered 2
(C)  slagizsiu (1) =gsted «i&l
(D) [A20R1mL gE1aH (IV) THQIAId =2l

Al 2l [Eseqmisl 2l svdier WiEg $30.
(1) (A)-(IV), (B)-(I1D), (C)~(11), (D)-(I)
(2 (A)-(1V), (B)-(ILI), (O)~(I), (D)-(II)
(3) (A1), (B)-(I), (O)~(1V), (D)~(11)
@) (A, (B)-(IV), (O~(1D, (D)-(D)
Options :

1.1

2.2

3.3
4.4

Question Number : 140 Question Id : 5330727613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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QgL A @E-TT HE Havdl.

Qg1 el
(A)  esdlsLAE] () HiEHHE Hiss
(B) e (1) 2pered 2
(C) sladizsin (1) =gsied «i&l
(D) [A20R1mL gE1aH (IV) THQIAId =2l

Al 2L [Esemial Al svdier WiEg s30.
(1) (A)-(IV), (B)-(I1D), (C)~(11), (D)-(I)
(2 (A)-(IV), (B)-(1LI), (O)~(1), (D)-(II)
(3) (A1), (B)-(I), (O)~(1V), (D)~(11)
4) (A, (B)-(IV), (O1D, (D)-(I)
Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072300
Question Shuffling Allowed : No

Question Id : 5330727614 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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A2 s1eu il {12 20 uRdiAL 4 [Esey el
Y1l vz esell Aot as, A ¢laddl

WL s3] v, suzally Al A,

Bl [Azudl sdi gzel-sea Gledl a-;

el 2034 9 udl svalfl wR edotl e

2 ] €14l g div, dizell
22l Aldadl Yaizy 2 st wivell,
ALl 91 wts 248, Yov A2l 5129,
eI, e, Gld, 2044 Wuel Uiz,

MU sdoveil svelBirdl 93 yad;
i svel[BL 2 Mgt ALzl dlsL Hoed;
62l 2 Held, £, Gl 2 !
Red Avir €2 avll 39 & 9!

el o243 U/l HEE o drll cxaL |
wulldl ! 3er-cusdl eysdly edlel s
- g Alael

Sub questions

Question Number : 141 Question Id : 5330727615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uit Hirderdl 2L s4L e 4 B )
(1) el

(2)  Hslsidl

(3)  [Erakel

(4) v

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 5330727616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sledel Yoo 3 $4L 8 T
(1) [Badgjur

(2) »e8d
(3) eld
(4) s

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 120/128



8/30/24, 11:23 AM g28.digialm.com/CAE/viewHtmIPDFAction.action
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 5330727617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sieiRs1 i Gledl ¢dl?
(1)  svelfuz

(2)  Alalaz

(3) [Bulasr w

(4)  iuel w
Options :

1.1

2.2

3.3
4.4

Question Number : 144 Question Id : 5330727618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2 ] glél 2d ag Wi dizel
22l Alozdl yaizy wu Hilbast vivel
— 2 il 2] Wl © 7

(1) udls

(2) e

(3)  risCuA

(4)  seuAlL

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 5330727619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sl 3ot 2iYS 2ol Yo 9 @vnsarmi 20 9 7
(1) M

(2) [Galizive

(3)  [agvel

(4) g

Options :
1.1
2.2

https://g28.digialm.com/CAE/viewHtmIPDFAction.action 121/128



8/30/24, 11:23 AM g28.digialm.com/CAE/viewHtmIPDFAction.action

3.3
4.4

Question Id : 5330727614 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Al2ie, s1e atizllA {12 2 UL 14 [EAsey gl
Yot ur 259l U g, A ¢l

ML 57 e, sl Al A,

B! [l el 4zell-sued Gledl an;

il 204 A adl svalfl wR edetl e

2 Al glél eiie deu dizell
22l Aldrdl Yaizy wa ilbdsl wivell,
Al 21 Bis 21y, Yor Al 519,
eI, €9, Gld, 204 Wuel AR,

UHAA edoveil svellEidl 92 yud;
e svel(BL 2 Wl Alvll dlsl Hed;
2l 2 Ui, g, Gl 2 !
A Avie, g2 Aol 3 &3 948!

Helrd o3, U/l HeE dU defl el )
wulldl 13- gl 2ysdly odldl s )
- gredid Hlarwell

Sub questions

Question Number : 141 Question Id : 5330727615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uaelct Hirdedl Ul $4L eI 4 B )
(1) el

(2) MELsidl

(3)  Erikel

(4) w0

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 5330727616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sledel Yoo 3 S99 7
(1) [Fadgjur

(2)  Me8d

(3) ad

4) sw@

Options :

1.1

2.2

3.3
4.4

Question Number : 143 Question Id : 5330727617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sieiRs1 i Gledl ¢dl?
(1)  svelfuz

(2)  Alalaz

(3) [Bulasr w

(4)  iuel w
Options :

1.1

2.2

3.3
4.4

Question Number : 144 Question Id : 5330727618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2 ] glél 2d ag Wi dizel
22l Alozdl yaizy wu Hilbast vivel
— 2 il 2] Wl © 7

(1) udls

(2) e

(3)  risCuA

(4)  seuAlL

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 5330727619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sl et Y 2ol Yol 9] @oisami 20 9 7
(1)  Heu
(2)  [Balzive
(3)  [Eimel
(4) g
Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072301
Question Shuffling Allowed : No

Question Id : 5330727620 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
ol Al -l {12 2l dloy [Asedl s,

UU[E ey Ul 2lanst saq) A2, e gR1EUEL AL B2 U8 s ©. Ucu, Mle, Milenil uen
2, A& met 24 AL Al g3l 8. [Bstierl 5 sl Al Acdd Hlcd FzuRid i 9. aldcid
2ot Moy Al 2o 29 Glslons T AREL KA 209 ©, sl [Udirll S UE G283 1 O, R
s © U 5195 dlssls UdA 50l O, 2 [l U ul HUHAUR U odd B, IR 25200 A W1a-lH]
HeE] Uldtirl 23U Rictists ol orledld s 8. [Fatd e [3uer 52 © el el Ad, 48 veala-l
WHA @Frl. SAL Uedrd A s ©. asifsasl -2ucuy dd - Higdedl Alsd w84, Feudui 252 ad, Acx
(MBI 1 8. D WA szl gL AL U9 5 O, sdwslauial Gl 2uad ucd cleriBd € Y. i
AL ividd o3 48 A O, [Asteted Ucx s UsiRe A Ul Ued 2oy 3uq € 8. Aldcudl [ ®
et [A2], Aied ued, ey i 209 © GlulE g,

- spdldleg £

Sub questions

Question Number : 146 Question Id : 5330727621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ul Ut e Ut U - 2L v ol 3L O 7

(1) 2ueul
(2) A
(3) Biger
(4) [EBRisnouxdl
Options :

1.1

2.2

3.3

4.4
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Question Number : 147 Question Id : 5330727622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

slEcrig] wed ued S usizq Al 7
(1) ied¥lea

(2) gl

(3) =yl

(4)  larlcHs

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 5330727623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A5l DU 4D Al AL SieL gL UM © T
(1) [su

(2) sl

(3)  Hleed

(4) Slaciu

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 5330727624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sl 4131 252 U, Ucd Rsyellcis ¢ O )
(1) &2leguzat

(2) [Gsn

(3)  Aldet

4)  ARA

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 5330727625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[Astiraiain 3 F3wdd ¢4 o 7
(1) A& A
(2) Al Uy
(3)  Hcud Ul
(4) M-l AelER

Options :
1.1
2.2
3.3
4.4

Question Id : 5330727620 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
vl il -l 12 2uial qiey [Asedl s

HUlE e Al 2lcval s A8l, Al gREUEL UL 82 U8 Us ©. U Miléex, MUEenl uex
i, HLlEee] set B Al Alvll g3l 9. [Estierl s 2usel A4 Aot Hled Fzued du 9. Ao
219d e Aledef] UG udd oleicns 2e3u AREL s 209 B, el [Udidl S HE R g R O, oeR
o O AR 5195 Elssls U sl ©, 2 [Beti Udl wel HUHAIR UM odd B, IR 2SR A WAL
EEH Uictirl 23U Bietists otriel] orllsdld lsA 9. Fsud e [3uer 53 © el el Ald, af weala-dl
AIUA APl AL U B2l s O, asilsasll ~2ucua dld - el lsd w94, Feudnl 252 ad A
(MBI G110 . B WA el kL AL UD 25 O, saislAuiall Gl 2uad Ut cderiBid €1 8. i
AL 2218 93 48 2 O, [Asure Ucxt sz Ui A UlEeue A 2 @3uq did 8. el [ o
e (B2, dled ued s 20l 204 © Gl 3.

- sedidlrg €9

Sub questions

Question Number : 146 Question Id : 5330727621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ul U e U] Ut - 2L o oL 34l © )

(1) zueuxl
(2)  HHIA
(3)  lssy
(4)  [Riaeuzd
Options :

1.1

2.2

3.3

4.4

Question Number : 147 Question Id : 5330727622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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slEcrial] wed Ao T usid Al 7
(1) iedalea

(2) Higddl

(3) 2yl

(4)  oUd-lcHS

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 5330727623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sl 2AU2121 8 Al 22UUAL SiAL g1k UL D )
(1) [su

(2) slal

(3)  wlecu

(4) Slaciu

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 5330727624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sl G131 252 U, Med Asrellcds €1 B )
(1) &2inguzt

(2) [su

(3)  Hleen

4)  uRA

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 5330727625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[Astiraiain 2 F3udd ¢4 o 7
(1) A& A
(2) Al Uy
(3)  Hcud Ul
(4) M-l 2A-lER

Options :
1.1
2.2
3.3
4.4
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